DALLAS COUNTY BID TABULATION	0.000.000.000	-0.00000000000	VI	ENDOR #1	VEN	NDOR #2	VFNI	OOR #3	VFN	DOR #4
BALLIC GOOM I BIB INDULTION	199999			INDOK # 1	V 2.7	DON #2	V 2.712	7011 # U	V 2.74	DOI(# 1
BID NO. 2016-002-6539			Advance Envi	ronmental Control, Inc.	Avanco En	vironmetal, Inc.	DTECH	Services	EDI Environmen	tal Technology, Inc.
			Mr.	Sid Hozhabri	Mr. Paul V	anCompernolle	Mr. Demo	etrius Cook	Mr. Anth	nony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD	194946		Vic	e President		Officer		ncipal		wner
ASSESSMENT AND CONSULTANT SERVICES		3:9:9:9:9:	P.0). Box 14326	2518 Valley Vi	iew Lane, Suite 113	624 Six Flags	Drive, Suite 242	2510 South	well Rd. #112
			Arling	ton, TX 76094		, TX 75234		TX 76011	Dallas,	TX 75229
	9999999	313131313	817-	845-0937 (P)	972-62	20-7306 (P)	817-695	5-6519 (P)	972-24	3-4194 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)			No	Fax Listed	No F	ax Listed	No Fa	x Listed	No Fa	ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017			sidh@a	ccontrolinc.com	paul@avancoe	environmental.com	demetrius	@dtechit.net	tkmatt@s	bcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS	લવલવલ	લવલવા								
BUYER: LENORA SEVILLIAN									Recomm	nend Award
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT										
NCTRCA Certified Vendor (M/WBE)	(લેલેલેલેલે	વેલવલન		Yes		Yes	В	ank	,	Yes
OTHER MINORITY CERTIFICATION		4949999		HUB		SBA	В	ank	В	lank
EEO1 FORM				Yes		Yes	Υ	'es	,	Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?				No		Yes		Vo	,	Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?	199999		ı	Letter DC		etter DC		mail		Website
ADDENDUM RETURNED?				N/A		N/A		I/A		N/A
COOPERATIVE PURCHASING?				Yes		Yes	Υ	'es	В	lank
	ESTIMATED									
DESCRIPTION	ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Section A. Assessment and Consultation Services										
1. Asbestos Services(must be trained, approved, and licensed or certified							3.00.3			
in accordance to TDSHS requirements).										
	9.09.09		0000000000							
Asbestos Consultant	1100	HOURS	\$35.00	\$38,500.00	\$50.00	\$55,000.00	\$35.00	\$38,500.00	\$18.00	\$19,800.00
Asbestos Inspector	1400	HOURS	\$32.00	\$44,800.00	\$55.00	\$77,000.00	\$25.00	\$35,000.00	\$16.00	\$22,400.00
Asbestos Project Manager	1350	HOURS	\$35.00	\$47,250.00	\$55.00	\$74,250.00	\$35.00	\$47,250.00	\$18.00	\$24,300.00
Air Monitoring Technician	500	HOURS	\$32.00	\$16,000.00	\$50.00	\$25,000.00	\$35.00	\$17,500.00	\$16.00	\$8,000.00
Clerical	1000	HOURS	\$12.00	\$12,000.00	\$10.00	\$10,000.00	\$15.00	\$15,000.00	\$9.00	\$9,000.00
Inspection/Assessment Report (including final report)	40	EACH	\$175.00	\$7,000.00	\$50.00	\$2,000.00	\$200.00	\$8,000.00	\$50.00	\$2,000.00
Abatement Plan/Specifications Report	20	EACH	\$200.00	\$4,000.00	\$250.00	\$5,000.00	\$200.00	\$4,000.00	\$80.00	\$1,600.00
Mileage Charge (if applicable)	3600	MILES	\$0.60	\$2,160.00	\$0.48	\$1,728.00	\$0.55	\$1,980.00	\$0.75	\$2,700.00
Minimum Service Charge (Note: Dallas County will only pay the minimum service charge amount or the actual time worked, whichever is greater).			\$100.00	\$100.00	\$200.00	\$200.00	\$150.00	\$150.00		N/A
Specifiy surcharge (if any) for Emergency Service Request:% of fees stated above. (Note: Emergency Service is defined as any request that requires an immediate on-site response time of two (2) hours or less, after hours, and weekend work).				25%		20%	5	0%	2	25%
Lead and Mold Services (must be trained, approved, and licensed or						10:1:1:1:1:1:1:1:1:1:1:1:1:1:1:1:1:1:1:		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	191919191919191	
certified in accordance to TDSHS requirements.).										
Lead Abatement Project Designer	200	HOURS	\$35.00	\$7,000.00	\$65.00	\$13,000.00	\$70.00	\$14,000.00	\$22.00	\$4,400.00
Lead Inspector	300	HOURS	\$32.00	\$9,600.00	\$55.00	\$16,500.00	\$70.00	\$21,000.00	\$18.00	\$5,400.00
Lead Risk Assessor	300	HOURS	\$35.00	\$10,500.00	\$55.00	\$16,500.00	\$70.00	\$21,000.00	\$18.00	\$5,400.00
Mold Assessment Consultant	150	HOURS	\$40.00	\$6,000.00	\$85.00	\$12,750.00	\$35.00	\$5,250.00	\$22.00	\$3,300.00
Mold Asssessment Technician	200	HOURS	\$32.00	\$6,400.00	\$55.00	\$11,000.00	\$25.00	\$5,000.00	\$16.00	\$3,200.00
Indoor Air Quality Technician	200	HOURS	\$32.00	\$6,400.00	\$55.00	\$11,000.00	\$35.00	\$7,000.00	\$16.00	\$3,200.00
Clerical	300	HOURS	\$12.00	\$3,600.00	\$10.00	\$3,000.00	\$15.00	\$4,500.00	\$9.00	\$2,700.00
Inspection/Assessment Report (including final report)	20	EACH	\$200.00	\$4,000.00	\$350.00	\$7,000.00	\$200.00	\$4,000.00	\$70.00	\$1,400.00
Abatement Plan/Specifications Report	10	EACH	\$200.00	\$2,000.00	\$350.00	\$3,500.00	\$200.00	\$2,000.00	\$80.00	\$800.00
Mileage Charge (if applicable)	1000	MILES	\$0.60	\$600.00	\$0.48	\$480.00	\$0.55	\$550.00	\$0.75	\$750.00

DALLAS COUNTY BID TABULATION		3333333	VE	ENDOR #1	VEN	IDOR #2	VENI	DOR #3	VEN	DOR #4
					_					
BID NO. 2016-002-6539	155555	888888		ronmental Control, Inc.		vironmetal, Inc.		I Services		tal Technology, Inc.
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD	latata.			Sid Hozhabri e President		anCompernolle Officer		etrius Cook ncipal		ony Ediale wner
ASSESSMENT AND CONSULTANT SERVICES	149494	99999		. Box 14326		ew Lane, Suite 113		Drive, Suite 242		well Rd. #112
ASSESSIMENT AND CONSULTANT SERVICES				ton, TX 76094		, TX 75234	,	TX 76011		TX 75229
	Hillian in			845-0937 (P)		20-7306 (P)	,	5-6519 (P)		3-4194 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)	199999	999999		Fax Listed		ax Listed		ıx Listed		x Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017			sidh@a	ccontrolinc.com	paul@avancoe	environmental.com	demetrius	@dtechit.net	tkmatt@s	bcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS	144444	वयवयवय					dometrido decontener			_
BUYER: LENORA SEVILLIAN									Recomm	end Award
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT										
NCTRCA Certified Vendor (M/WBE)	Himmin			Yes		Yes	Blank		,	⁄es
OTHER MINORITY CERTIFICATION				HUB		SBA	В	lank	В	lank
EEO1 FORM				Yes	Yes)	/es		⁄es
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?				No	Yes			No		/es
BID NOTIFICATION-HOW WERE YOU NOTIFIED?			l	_etter DC	Letter DC			mail		Vebsite
ADDENDUM RETURNED?	111911911			N/A	N/A			N/A		N/A
COOPERATIVE PURCHASING?	14040404040	-3+3+3+3+3+3+3		Yes	Yes		,	/es	В	lank
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Minimum Service Charge (Note: Dallas County will only pay the minimum service charge amount or the actual time worked, whichever is greater).			\$100.00	\$100.00	\$240.00	\$240.00	\$200.00	\$200.00	ı	N/A
Specify surcharge (if any) for Emergency Service Request:% of fees stated				25%	20%		50%		5	5%
above. (Note: Emergency Service is defined as any request that requires an				2070					_	
Section B: Laboratory Testing Services	iddddddd	444444	000000	3000000000		100000000	1000000	10000000	adadadada	00000000
Price per test shall include all sample analysis costs, including but not limited to, materials necessary to collect samples, time and materials necessary to process each sample in the laboratory, record maintenance, and facsimile transmission of results, within the specified turnaround time, the Contractor shall send results of the analysis to Dallas County via facsimile transmission. A written report of the analysis must follow within ten (10) business days of transmission.										
3. Test Category: Asbestos Sampling and Analysis										
Type of Test: Asbestos Sampling by PCM				1 day		1 day	1	day	1	dov
Turn Around Time:	200	EACH	\$6.00	1-day \$1,200.00	\$12.00	1-day \$2,400,00	\$6.00	day \$1,200,00	\$4.00	day \$800.00
Cost per test:	200	EACH	\$0.00	⊅1,∠UU.UU	\$12.UU	\$2,400.00	\$U.UU	\$1,200.00	\$4.UU	VU.UU04
Type of Test: Asbestos Sampling by PLM										
Turn Around Time:				1-day		1-day		day		day
Cost per Test:	400	EACH	\$13.00	\$5,200.00	\$12.00	\$4,800.00	\$5.00	\$2,000.00	\$8.00	\$3,200.00
T. CT. LAIL L. C. II. L. DIVIS L. C.										
Type of Test: Asbestos Sampling by PLM-Point Count				1.day		1_day	1	day	1	day
Turn Around Time: Cost per Test:	20	EACH	\$35.00	1-day \$700.00	\$25.00	1-day \$500.00	\$5.00	day \$100.00	\$12.00	day \$240.00
ουσι μοι 1 του.	20	LAUIT	ψ55.00	Ψ100.00	Ψ23.00	φυσυ.συ	ψ3.00	ψ100.00	ψ12.00	Ψ270.00
4. Test Category: Asbestos Sampling and Analysis	30 130 130		[4]4]4]4]4]4							
Type of Test: Asbestos Sampling by TEM										

DALLAS COUNTY BID TABULATION			V	ENDOR #1	VE	NDOR #2	VENL	OOR #3	VEN	IDOR #4
BID NO. 2016-002-6539		4141414141414141414141414141414141414141		ironmental Control, Inc.		nvironmetal, Inc.		Services		ntal Technology, Inc.
ANNUAL CONTRACT FOR ACRECTOC MOLD LEAD	-1:1:1:1:1:1:1:1:1:1:1:1:1:1:1:1:1:1:1:			Sid Hozhabri		/anCompernolle		etrius Cook		hony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD	-000000			ce President		Officer		ncipal		Owner #112
ASSESSMENT AND CONSULTANT SERVICES	-1999999	999999		D. Box 14326 yton, TX 76094		/iew Lane, Suite 113 s, TX 75234		Drive, Suite 242 TX 76011		nwell Rd. #112 TX 75229
	-			-845-0937 (P)		20-7306 (P)		5-6519 (P)		13-4194 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)	-::::::::::::::::::::::::::::::::::::::			Fax Listed		Fax Listed		x Listed		ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017	-1999999	999999		ccontrolinc.com		environmental.com		@dtechit.net		sbcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS	-(:::::::::::::::::::::::::::::::::::::		Sidiled	iccontrolline.com	paul@avanco	<u>Jenvironinientai.com</u>	demedius	<u>eutechit.het</u>	<u>tkmatte</u> ;	sucgional.riet
BUYER: LENORA SEVILLIAN									Docomr	nend Award
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT		393939							Recom	nena Awara
NCTRCA Certified Vendor (M/WBE)	::::::::::::::::::::::::::::::::::::::			Yes		Yes	DI	ank		Yes
OTHER MINORITY CERTIFICATION				HUB		SBA		ank		Blank
EEO1 FORM	-1414141414	999999		Yes		Yes		'es		Yes
	-			No		Yes				
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?	-::::::::::::::::::::::::::::::::::::::				1.			No mail		Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED? ADDENDUM RETURNED?	- 644444	444444		Letter DC	Le	etter DC N/A				Website N/A
ADDENDUM RETURNED? COOPERATIVE PURCHASING?	-::::::::::::::::::::::::::::::::::::::			N/A				V/A /		
COOPERATIVE PURCHASING?	0+0+0+0+0+0+0	-0-0-0-0-0-0-0-0		Yes		Yes	Y	'es	l	Blank
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Turn Around Time:				1-day		1-day	1-	day	1	-day
Cost per Test:	16	EACH	\$55.00	\$880.00	\$50.00	\$800.00	\$5.00	\$80.00	\$38.00	\$608.00
Type of Test: Micro-Vac										
Turn Around Time:				1-day		1-day	1-	day	1	-day
Cost per Test:	4	EACH	\$100.00	\$400.00	\$150.00	\$600.00	\$55.00	\$220.00	\$25.00	\$100.00
Type of Test: Asbestos Sampling by PCM										
Turn Around Time:				2-days	:	2-days	2-0	days	2	-days
Cost per Test:	200	EACH	\$5.00	\$1,000.00	\$10.00	\$2,000.00	\$6.00	\$1,200.00	\$3.00	\$600.00
Type of Test: Asbestos Sampling by PLM										
Turn Around Time:				2-days		2-days		days		-days
Cost per Test:	400	EACH	\$9.00	\$3,600.00	\$10.00	\$4,000.00	\$5.00	\$2,000.00	\$8.00	\$3,200.00
Type of Test: Asbestos Sampling by PLM-Point Count										
Turn Around Time:				2-days		2 days		days		-days
Cost per Test:	20	EACH	\$30.00	\$600.00	\$25.00	\$500.00	\$5.00	\$100.00	\$12.00	\$240.00
Type of Test: Asbestos Sampling by TEM										
Turn Around Time:				2-days		2-days		days		-days
Cost per Test:	16	EACH	\$55.00	\$880.00	\$25.00	\$400.00	\$5.00	\$80.00	\$35.00	\$560.00
Type of Test: Micro-Vac										
Turn Around Time:				2-days		2-days	2-0	days	2	-days
Cost per Test:	4	EACH	\$80.00	\$320.00	\$150.00	\$600.00	\$48.00	\$192.00	\$25.00	\$100.00
Type of Test: PLM Analysis - Friable ACM										
Test Method:				BULK		BULK	Bl	JLK	E	BULK
Turn Around Time:				1-day		1-day	1-	day	1	l-day
Cost per Test:	100	EACH	\$13.00	\$1,300.00	\$12.00	\$1,200.00	\$8.00	\$800.00	\$8.00	\$800.00
Type of Test: PLM Analysis-Friable ACM										

DALLAS COUNTY BID TABULATION			V	ENDOR #1	VEN	NDOR #2	VENI	DOR #3	VEN	IDOR #4
					_					
BID NO. 2016-002-6539	144444			ironmental Control, Inc.		nvironmetal, Inc.		I Services		ntal Technology, Inc.
	_::::::::::::::::::::::::::::::::::::::			Sid Hozhabri		/anCompernolle		etrius Cook		hony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD	-13131313			ce President		Officer		ncipal		Owner
ASSESSMENT AND CONSULTANT SERVICES	444444	944444		D. Box 14326		iew Lane, Suite 113		Drive, Suite 242		hwell Rd. #112
				oton, TX 76094		, TX 75234		, TX 76011		TX 75229
OPENING DATE OCTODED ON COAF & COORD (OT)	-			-845-0937 (P)		20-7306 (P)		5-6519 (P)		13-4194 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)				o Fax Listed		Fax Listed		x Listed		ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017	1999999		sidh@a	accontrolinc.com	paul@avancoe	environmental.com	demetrius	@dtechit.net	tkmatt@:	sbcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS										
BUYER: LENORA SEVILLIAN									Recomm	mend Award
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT	44.44.4									
NCTRCA Certified Vendor (M/WBE)	19090909090			Yes		Yes	В	lank		Yes
OTHER MINORITY CERTIFICATION				HUB		SBA	В	lank	I	Blank
EEO1 FORM				Yes		Yes	`	⁄es		Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?		944444		No	Yes			No		Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?	1999999		Letter DC		Le	etter DC	Е	mail	DC	Website
ADDENDUM RETURNED?			N/A			N/A	1	V/A		N/A
COOPERATIVE PURCHASING?			Yes		Yes		\	/es		Blank
	ESTIMATED	LINIT OF	Yes		165			1200	i e	
DESCRIPTION	ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST COST EXTENSION		UNIT COST COST EXTENSION		UNIT COST COST EXTENSION		UNIT COST	COST EXTENSION
Test Method:				BULK	BULK		BULK			BULK
Turn Around Time:				4 Hours	4 Hours			lours		Hours
Cost per Test:	10	EACH	\$20.00	\$200.00	\$25.00 \$250.00		\$15.00 \$150.00		\$10.00	\$100.00
Type of Test: PLM Analysis - NOB ACM										
Test Method:				BULK		BULK		ULK		BULK
Turn Around Time:				2-days	2	2-days	2-	days	2	-days
Cost per Test:	100	EACH	\$9.00	\$900.00	\$10.00	\$1,000.00	\$8.00	\$800.00	\$6.00	\$600.00
5. Test Category: Asbestos Sampling and Analysis	3.3333	* D* D* D* D* D*		HORESTON .	(*:*:*:*:*:*:	18118181818181	000000000000000000000000000000000000000	*1*1*1*1*1*1*		12 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1
3. Test Category. Assessos Sampling and Analysis						************		44.044.044.044		.,
Type of Test: TEM Analysis - Friable ACM										
Test Method:				BULK	[BULK	В	ULK	E	BULK
Turn Around Time:				2-days	2	2-days	2-	days	2	-days
Cost per Test:	16	EACH	\$65.00	\$1,040.00	\$50.00	\$800.00	\$60.00	\$960.00	\$30.00	\$480.00
Type of Test: TEM Analysis - NOB ACM										
Test Method:				BULK		BULK	В	ÜLK	E	BULK
Turn Around Time:				2-days	2	2-days	2-	days	2	-days
Estimated Quantity:	16	EACH	\$65.00	\$1,040.00	\$50.00	\$800.00	\$60.00	\$960.00	\$30.00	\$480.00
7 (7 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2										
Type of Test: PCM Analysis-ACM				AID		AID		LID.		AID
Test Method:				AIR		AIR		AIR		AIR
Turn Around Time:	70	FACU	40.00	1-day		1-day		day		I-day
Cost per Test:	70	EACH	\$8.00	\$560.00	\$10.00	\$700.00	\$8.00	\$560.00	\$4.00	\$280.00
Type of Test: PCM Analysis - ACM										
Test Method:				AIR		AIR	Į.	AIR	i	AIR
Turn Around Time:				4-Hours		Hours		lours		Hours
Cost Per Test:	10	EACH	\$8.00	\$80.00	\$18.00	\$180.00	\$12.00	\$120.00	\$4.00	\$40.00
6. Test Category: Lead Sampling and Analysis										

DALLAS COUNTY BID TABULATION	03030303030	-010101010101	V	ENDOR #1	VE	NDOR #2	VENI	OOR #3	VEN	IDOR #4
				-						
BID NO. 2016-002-6539			Advance Envi	ironmental Control, Inc.	Avanco E	nvironmetal, Inc.	DTECH	l Services	EDI Environmen	ntal Technology, Inc.
	19649966	999999	Mr.	Sid Hozhabri	Mr. Paul V	/anCompernolle	Mr. Dem	etrius Cook	Mr. Ant	hony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			Vic	ce President		Officer	Priı	ncipal	()wner
ASSESSMENT AND CONSULTANT SERVICES). Box 14326		iew Lane, Suite 113		Drive, Suite 242		nwell Rd. #112
				ton, TX 76094		s, TX 75234		, TX 76011		TX 75229
				-845-0937 (P)		20-7306 (P)		5-6519 (P)		13-4194 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)				Fax Listed		Fax Listed		x Listed		ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017	_0000000		sidh@a	<u>iccontrolinc.com</u>	paul@avanco	environmental.com	demetrius	@dtechit.net	tkmatt@:	sbcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS	1999999									
BUYER: LENORA SEVILLIAN									Recomm	nend Award
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT										
NCTRCA Certified Vendor (M/WBE)				Yes		Yes	В	lank		Yes
OTHER MINORITY CERTIFICATION				HUB		SBA	В	lank	I	Blank
EEO1 FORM				Yes		Yes	١	⁄es		Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?	1414444444			No		Yes		No		Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?				Letter DC	L	etter DC	E	mail	DC	Website
ADDENDUM RETURNED?				N/A		N/A	1	N/A		N/A
COOPERATIVE PURCHASING?	44444	444444		Yes		Yes	١	⁄es		Blank
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Type of Test: Lead Sampling Air by AAS										
Turn Around Time:				1-day		1-day	1-	day	_	-day
Cost per Test:	20	EACH	\$10.00	\$200.00	\$200.00	\$4,000.00	\$10.00	\$200.00	\$8.00	\$160.00
Type of Test: Lead Sampling Bulk by AAS										
Turn Around Time:				1-day		1-day	1-	day		l-day
Cost per Test:	20	EACH	\$10.00	\$200.00	\$12.00	\$240.00	\$10.00	\$200.00	\$8.00	\$160.00
Type of Test: Lead Sampling Dust by AAS										
Turn Around Time:				1-day		1-day	1-	day	•	l-day
Cost per Test:	20	EACH	\$10.00	\$200.00	\$12.00	\$240.00	\$12.00	\$240.00	\$8.00	\$160.00
Type of Test: Lead Sampling Soil by AAS										
Turn Around Time:				1-day		1-day		day		l-day
Cost per Test:	20	EACH	\$18.00	\$360.00	\$12.00	\$240.00	\$18.00	\$360.00	\$12.00	\$240.00
Type of Test: Lead Sampling STLC										
Turn Around Time:			3	days only		1-day	1-	day		I-day
Cost per Test:	20	EACH	\$170.00	\$3,400.00	\$375.00	\$7,500.00	\$10.00	\$200.00	\$8.00	\$160.00
Type of Test: Lead Sampling TTLC	_									
Turn Around Time:				1-day		1-day	1-	·day		I-day
Cost per Test:	20	EACH	\$30.00	\$600.00	\$105.00	\$2,100.00	\$10.00	\$200.00	\$6.00	\$120.00
Type of Tests Load Compling Air by AAC										
Type of Test: Lead Sampling Air by AAS Turn Around Time:	+			2-days			า	days	2	-days
Cost per Test:	40	EACH	\$10.00	\$400.00	\$80.00	\$3,200.00	\$10.00	\$400.00	\$7.00	-uays \$280.00
Cost her Test:	40	LAUT	\$ IU.UU	φ 4 υυ.υυ	φου.υυ	φ3,200.00	φ10.00	\$40U.UU	φ1.00	φ200.00
Type of Test: Lead Sampling Bulk by AAS										
Turn Around Time:				2-days		2-days	2-	days	2	-days
Cost per Test:	40	EACH	\$10.00	\$400.00	\$8.00	\$80.00	\$10.00	\$80.00	\$12.00	\$120.00
Type of Test: Lead Sampling Dust by AAS	-									
31	1	l .	1	1		1		l		1

DALLAS COUNTY BID TABULATION	0+0+0+0+0+0+0	-0-0-0-0-0-0-0	l	'ENDOR #1	VEI	NDOR #2	VENI	DOR #3	VEN	IDOR #4
			-							
BID NO. 2016-002-6539			Advance Env	rironmental Control, Inc.	Avanco Er	nvironmetal, Inc.	DTECH	l Services	EDI Environme	ntal Technology, Inc.
	444444	444444	Mr.	Sid Hozhabri	Mr. Paul V	/anCompernolle	Mr. Demo	etrius Cook	Mr. Ant	hony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			Vi	ce President		Officer	Prir	ncipal		Owner
ASSESSMENT AND CONSULTANT SERVICES				O. Box 14326	2518 Valley Vi	iew Lane, Suite 113		Drive, Suite 242	2510 Sout	hwell Rd. #112
		444444		gton, TX 76094		, TX 75234		, TX 76011		TX 75229
				-845-0937 (P)		20-7306 (P)		5-6519 (P)	972-243-4194 (P)	
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)				o Fax Listed		ax Listed		x Listed		ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017			sidh@a	accontrolinc.com	paul@avanco	environmental.com	al.com <u>demetrius@dtechit.net</u>		tkmatt@	sbcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS										
BUYER: LENORA SEVILLIAN									Recomi	mend Award
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT	4444	44.44.4								
NCTRCA Certified Vendor (M/WBE)				Yes		Yes		lank		Yes
OTHER MINORITY CERTIFICATION				HUB		SBA	В	lank	I	Blank
EEO1 FORM				Yes		Yes	Υ	/es		Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?				No		Yes		No		Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?				Letter DC		etter DC		mail	1	Website
ADDENDUM RETURNED?				N/A		N/A		N/A		N/A
COOPERATIVE PURCHASING?	144444	વવવવવ		Yes		Yes	Υ	/es		Blank
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST COST EXTENSION		UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Turn Around Time:				2-days	2-days		2-0	days	2	-days
Cost per Test:	40	EACH	\$10.00 \$400.00		\$8.00 \$320.00		\$12.00 \$480.00		\$7.00	\$280.00
Type of Test: Lead Sampling Soil by AAS										
Turn Around Time:				2-days	2	2-days	2-0	days	2	-days
Cost per Test:	40	EACH	\$15.00	\$600.00	\$8.00	\$320.00	\$18.00	\$720.00	\$7.00	\$280.00
Type of Test: Lead Sampling STLC										
Turn Around Time:				3-days only		2-day	2-0	days	2	-days
Cost per Test:	40	EACH	\$170.00	\$6,800.00	\$375.00	\$15,000.00	\$10.00	\$400.00	\$7.00	\$280.00
Type of Test: Lead Sampling TTLC										
Turn Around Time:				2-days	2	2-days	2-0	days	2	-days
Cost per Test:	40	EACH	\$25.00	\$1,000.00	\$55.00	\$2,200.00	\$10.00	\$400.00	\$7.00	\$280.00
Type of Test: Lead Paint Analysis										
Test Method:			1	EPA 6010B	EP	A 6010B	EPA	6010B	EPA	A 6010B
Turn Around Time:				2-day		2-day	2-0	days	2	-days
Cost per Test:	10	EACH	\$80.00	\$800.00	\$45.00	\$450.00	\$28.00	\$280.00	\$10.00	\$100.00
Type of Test: Lead Paint Analysis										
Test Method:				EPA 6010B		A 6010B		6010B		A 6010B
Turn Around Time:				10-days		0-days		days	+)-days
Cost per Test:	40	EACH	\$40.00	\$1,600.00	\$25.00	\$1,000.00	\$15.00	\$600.00	\$8.00	\$320.00
Type of Test: Lead Paint Analysis										
Test Method:				BULK		BULK		ULK		BULK
Turn Around Time:				2-days		2-days		days		-days
Cost per Test:	10	EACH	\$80.00	\$800.00	\$8.00	\$80.00	\$28.00	\$280.00	\$12.00	\$120.00
7. Test Category: Lead Sampling and Analysis						155155555555555555555555555555555555555				<u> </u>
Type of Test: Lead Paint Analysis										

DALLAS COUNTY BID TABULATION	(+0+0+0+0+0+0	-0-0-0-0-0-0-0	l v	ENDOR #1	VEN	NDOR #2	VENI	DOR #3	VEN	IDOR #4
BID NO. 2016-002-6539			Advance Envi	ronmental Control, Inc.	Avanco En	vironmetal, Inc.	DTECH	l Services	EDI Environmen	ntal Technology, Inc.
	44444	444444	Mr.	Sid Hozhabri	Mr. Paul V	'anCompernolle	Mr. Dem	etrius Cook	Mr. Ant	hony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			Vio	e President	(Officer	Priı	ncipal	()wner
ASSESSMENT AND CONSULTANT SERVICES			P.C). Box 14326	2518 Valley Vi	iew Lane, Suite 113	624 Six Flags	Drive, Suite 242	2510 South	nwell Rd. #112
		444444		ton, TX 76094		, TX 75234		, TX 76011		TX 75229
				845-0937 (P)		20-7306 (P)		5-6519 (P)		3-4194 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)				Fax Listed		ax Listed		x Listed		ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017			sidh@a	ccontrolinc.com	paul@avancoe	environmental.com	demetrius	@dtechit.net	tkmatt@:	sbcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS		414141414								
BUYER: LENORA SEVILLIAN									Recomm	nend Award
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT	Ja .a .a									
NCTRCA Certified Vendor (M/WBE)	199999	999999		Yes		Yes	В	lank		Yes
OTHER MINORITY CERTIFICATION				HUB		SBA	В	lank	I	Blank
EEO1 FORM				Yes		Yes	١	⁄es		Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?				No		Yes		No		Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?				Letter DC	Le	etter DC	E	mail	DC	Website
ADDENDUM RETURNED?				N/A		N/A	1	V/A		N/A
COOPERATIVE PURCHASING?				Yes		Yes	١	⁄es		Blank
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Test Method:	207.11111		W	PE by AAS	\	WIPE	W	/IPE	\	VIPE
Turn Around Time:				2-days		2-days	2-days			-days
Cost per Test:	10	EACH	\$10.00	\$100.00	\$8.00	\$80.00	\$28.00	\$280.00	\$6.00	\$60.00
						,,,,,,	,			
Type of Test: Lead in Air Sample Analysis										
Test Method:			A	IR by AAS		AIR	F	AIR		AIR
Turn Around Time:				2-day	2	2-day	2-(days	2	-days
Cost per Test:	10	EACH	\$10.00	\$100.00	\$85.00	\$850.00	\$28.00	\$280.00	\$8.00	\$80.00
Type of Test: Lead in Soil Sample Analysis										
Test Method:			BL	JLK by AAS		BULK		ULK		BULK
Turn Around Time:				2-days		2-days		days		-days
Cost per Test:	10	EACH	\$10.00	\$100.00	\$8.00	\$80.00	\$28.00	\$280.00	\$12.00	\$120.00
Type of Test: Lead in Soil Sample Analysis			10/0	TED! AAC	1.0	(ATED	14/4),TED	,,,	ATED
Test Method:			WA	TER by AAS		/ATER		ATER		ATER
Turn Around Time:	10	FACIL	¢10.00	2-days		2-days		days		-days
Cost per Test:	10	EACH	\$10.00	\$100.00	\$8.00	\$80.00	\$28.00	\$280.00	\$12.00	\$120.00
Type of Test: Lead X-Ray Fluorescence (XRF) Analysis										
Turn Around Time:				2-days	2	⊥ 2-days	7-1	ldays	ı	Blank
Cost per Test:	10	PER DAY	\$300.00	\$3,000.00	\$375.00	\$3,750.00	\$50.00	\$500.00	\$8.00	\$80.00
	1.0	LICOM	\$300.00	ψ0,000.00	ψ575.00	ψ5,750.00	ψου.υυ	ψοσο.σο	ψ3.00	ψου.υυ
8. Test Category: Mold/Indoor Air Quality Sampling and Analysis	lanana	idridrid								
Type of Test: Non-Viable Direct Microscope - Bulk										
Turn Around Time:				1-day		1-day	1-	·day	-	-day
Cost per Test:	8	EACH	\$35.00	\$280.00	\$30.00	\$240.00	\$35.00	\$280.00	\$11.00	\$88.00
Type of Test: Non-Viable Direct Microscope - Swab										
Turn Around Time:				1-day		1-day	1-	day		-day
Cost per Test:	8	EACH	\$35.00	\$280.00	\$30.00	\$240.00	\$35.00	\$280.00	\$8.00	\$64.00
			Ī		I		1		Ī	

DALLAS COUNTY BID TABULATION	::::::::::		V	ENDOR #1	VE	NDOR #2	VENI	DOR #3	VEN	IDOR #4		
BID NO. 2016-002-6539			Advance Env	ironmental Control, Inc.	Avanco Ei	nvironmetal, Inc.	DTECH	l Services	EDI Environmer	ntal Technology, Inc.		
	144444		Mr.	Sid Hozhabri	Mr. Paul \	/anCompernolle	Mr. Dem	etrius Cook	Mr. Ant	hony Ediale		
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			Vi	ce President		Officer	Pri	ncipal	C)wner		
ASSESSMENT AND CONSULTANT SERVICES				D. Box 14326	,	iew Lane, Suite 113	5	Drive, Suite 242		nwell Rd. #112		
	144444			gton, TX 76094		s, TX 75234		, TX 76011		TX 75229		
				-845-0937 (P)		20-7306 (P)		5-6519 (P)		3-4194 (P)		
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)				o Fax Listed		Fax Listed	No Fax Listed demetrius@dtechit.net			ax Listed		
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017	144444		sidh@a	accontrolinc.com	paul@avanco	environmental.com	demetrius	@dtechit.net	tkmatt@s	sbcglobal.net		
THREE ADDITIONAL ONE YEAR PERIODS												
BUYER: LENORA SEVILLIAN	193933								Recomm	nend Award		
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT	4 4 4		Vos		V							
NCTRCA Certified Vendor (M/WBE)	15555555		Yes		Yes		В	lank		Yes		
OTHER MINORITY CERTIFICATION			HUB			SBA	В	lank	[Blank		
EEO1 FORM			Yes			Yes	`	/es		Yes		
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?				No		Yes		No		Yes		
BID NOTIFICATION-HOW WERE YOU NOTIFIED?				Letter DC	Le	etter DC	E	mail	DC	Website		
ADDENDUM RETURNED?				N/A		N/A	1	N/A		N/A		
COOPERATIVE PURCHASING?		વલવલવ		Yes		Yes	`	/es	E	Blank		
DESCRIPTION	ESTIMATED ANNUAL	UNIT OF MEASURE	UNIT COST COST EXTENSION		UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION		
T. CT. I N. WILL BL. IN.	QUANTITY											
Type of Test: Non-Viable Direct Microscope - Wipe				1-day	1-day		1-day			l de		
Turn Around Time:	0	FACIL	#2F 00	¢200.00	,		,		0.00 \$35.00 \$280.00 \$8.00			l-day
Cost per Test:	8	EACH	\$35.00	\$280.00	\$30.00 \$240.00		\$35.00 \$280.00		\$8.00	\$64.00		
Type of Test: Non-Viable Direct Microscope - Tape Lift												
Turn Around Time:				1-day		1-day	1.	∣ -day	1	⊥ I-day		
Cost per Test:	8	EACH	\$35.00	\$280.00	\$30.00	\$240.00	\$35.00	\$280.00	\$8.00	\$64.00		
Cost per rest.	0	EAGIT	ψ33.00	Ψ200.00	ψ30.00	Ψ240.00	ψ33.00	Ψ200.00	ψ0.00	ψ04.00		
9. Test Category: Mold/Indoor Air Quality Sampling and Analysis												
Type of Test: Air-O-Cell Collection - Microscope										1		
Turn Around Time:				1-day		1-day	1-	-day	1	l-day		
Cost per Test:	12	EACH	\$55.00	\$660.00	\$50.00	\$600.00	\$45.00	\$540.00	\$60.00	\$720.00		
Type of Test: Non-Viable Direct Microscope - Bulk												
Turn Around Time:				2-days		2-days	2-	days	2	-days		
Cost Per Test:	8	EACH	\$30.00	\$240.00	\$20.00	\$160.00	\$30.00	\$240.00	\$25.00	\$200.00		
	ļ											
Type of Test: Non-Viable Direct Microscope - Swab	ļ							<u> </u>		<u> </u>		
Turn Around Time:	<u> </u>	- - · · ·	40	2-days		2-days		days		-days		
Cost per Test:	8	EACH	\$30.00	\$240.00	\$20.00	\$160.00	\$30.00	\$240.00	\$15.00	\$120.00		
Type of Test: Non-Viable Direct Microscope - Wipe	-											
Turn Around Time:	+			2-days			2.	days	2	-days		
Cost of Test:	8	EACH	\$30.00	\$240.00	\$20.00	\$160.00	\$30.00	\$240.00	\$15.00	\$120.00		
COST OF TOST.	0	LACII	ψ30.00	ψ ∠+ U.UU	φ∠0.00	φ100.00	φ30.00	φ240.00	ψ10.00	φ120.00		
Type of Test: Non-Viable Direct Microscope - Tape Lift	+											
Turn Around Time:	1			2-days		2-davs	2-	davs	2	-days		
Cost per Test:	8	EACH	2-days \$ 30.00 \$240.00		2-days \$20.00 \$160.00		2-days 0 \$30.00 \$240.00		\$15.00	\$120.00		
	†	2,1011	5 33.00	. 4210.00	\$20.00	Ţ.50.00	\$55.00	42.0.00	Ţ.0.00	4.20.00		
Type of Test: Air-O Cell Collection - Microscope									1			
Turn Around Time:	1			2-days		2-days	2-	days	2	-days		
Cost per Test:	12	EACH	\$35.00	\$420.00	\$30.00	\$360.00	\$35.00	\$420.00	\$55.00	\$660.00		

DALLAS COUNTY BID TABULATION	0.000.000.000	-01-01-01-01-01-01	V	ENDOR #1	VEI	NDOR #2	VEN	IDOR #3	VEI	IDOR #4	
BID NO. 2016-002-6539	(66666)		Advance Envi	ironmental Control, Inc.	Avanco Er	nvironmetal, Inc.	DTECH	H Services	EDI Environme	ntal Technology, Inc.	
		444444	Mr.	Sid Hozhabri	Mr. Paul V	/anCompernolle	Mr. Dem	netrius Cook	Mr. An	thony Ediale	
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD		31313131313	Vio	ce President	(Officer	Pri	incipal	(Owner	
ASSESSMENT AND CONSULTANT SERVICES			P.C). Box 14326	2518 Valley V	iew Lane, Suite 113	624 Six Flags	Drive, Suite 242	2510 Sout	hwell Rd. #112	
			Arling	ton, TX 76094	Dallas	, TX 75234	Arlingtor	n, TX 76011	Dallas	, TX 75229	
			817-	-845-0937 (P)	972-6	20-7306 (P)	817-69	5-6519 (P)	972-2	13-4194 (P)	
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)			No	Fax Listed	No F	ax Listed	No Fa	ax Listed	No F	ax Listed	
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017			sidh@a	ccontrolinc.com	paul@avanco	environmental.com	demetrius@dtechit.net		tkmatt@	sbcglobal.net	
THREE ADDITIONAL ONE YEAR PERIODS	1999999	399999									
BUYER: LENORA SEVILLIAN									Recomi	mend Award	
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT											
NCTRCA Certified Vendor (M/WBE)		વેલવેલવે		Yes		Yes	Е	Blank		Yes	
OTHER MINORITY CERTIFICATION			HUB		SBA		Е	Blank		Blank	
EEO1 FORM			Yes		Yes		,	Yes		Yes	
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?			No No		Yes			No		Yes	
BID NOTIFICATION-HOW WERE YOU NOTIFIED?	an de la companya de	1444444	Letter DC			etter DC		mail	DC	Website	
ADDENDUM RETURNED?			N/A			N/A		N/A		N/A	
COOPERATIVE PURCHASING?			Yes			Yes		Yes		Blank	
	ESTIMATED		Yes								
DESCRIPTION	ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST COST EXTENSION		UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	
									İ		
Type of Test: Basic Occupant Comfort Parameter Indoor Testing (to include O2. Carbon Monoxide, Carbon Dioxide, Relative Humidity, and Temperature)											
Test Method:				Air		Air		Air		Air	
Turn Around Time:				N/A	N/A		N/A			N/A	
Cost per Test:	6	EACH	\$75.00	\$450.00	\$75.00	\$450.00	\$80.00	\$480.00	\$45.00	\$270.00	
Type of Test: Photoionization Detector											
Test Methold:				Air		Air		Air		Air	
Turn Around Time:				N/A		N/A		N/A	Air N/A		
Cost per Test:	6	EACH	\$90.00	\$540.00	\$75.00	\$450.00	\$85.00	\$510.00	\$35.00	\$210.00	
Cost per Test.	0	EACH	\$90.00	\$340.00	\$75.00	\$430.00	\$60.00	\$310.00	\$33.00	\$210.00	
Type of Test: Microbial Analysis (Total Spores)											
Test Method:				Air		Air		Air		Air	
Turn Around Time:				10-days	1	0-days)-days	1	O-days	
Cost per Test:	6	EACH	\$38.00	\$228.00	\$20.00	\$120.00	\$38.00	\$228.00	\$8.00	\$48.00	
ous par rest.		ENOTI	ψ30.00	Ψ220.00	Ψ20.00	ψ120.00	ψ30.00	Ψ220.00	ψ0.00	ψ 10.00	
10. Test Category: Mold/Indoor Air Quality Sampling and Analysis	energia de la composição	19119113									
Type of Test: Microbial Analysis (Culturalable)											
Test Method:				Air		Air		Air	1	Air	
Turn Around Time:			Air 10-days		1	0-days)-days	1	O-days	
Cost per Test:	6	EACH	\$38.00 \$228.00		\$35.00	\$210.00	\$45.00	\$270.00	\$22.00	\$132.00	
Type of Test. Microbial Applysis											
Type of Test: Microbial Analysis			Wipe		Wino		Wino			Wino	
Test Method:			·		Wipe 10 days					Wipe 2 days	
Turn Around Time:		EACH	10-days \$45.00 \$270.00		10-days				\$270.00		0-days
Cost per Test:	6	EACH	\$45.00 \$270.00		\$35.00	\$210.00	\$45.00	\$270.00	\$8.00	\$48.00	
Type of Test: Viable Fungal Genus Indentification/Quantification - Swap/Sponge Culture											
Test Method: (Insert Test Method)			D	irect Exam	Micros	copic Direct	EP#	A 305-1	EPA 305-1		
			Direct Exam		=	•			EPA 305-1		

DALLAS COUNTY BID TABULATION	:::::::::::::::::::::::::::::::::::::::	-0-0-0-0-0-0-0	VE	INDOR #1	VEN	IDOR #2	VENI	DOR #3	VEN	IDOR #4
						-				
BID NO. 2016-002-6539			Advance Envir	onmental Control, Inc.	Avanco En	vironmetal, Inc.	DTECH	l Services	EDI Environmer	ntal Technology, Inc.
			Mr. S	Sid Hozhabri	Mr. Paul V	anCompernolle	Mr. Dem	etrius Cook	Mr. Ant	hony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			Vic	e President	C	Officer	Pri	ncipal	C)wner
ASSESSMENT AND CONSULTANT SERVICES			P.O	. Box 14326		ew Lane, Suite 113		Drive, Suite 242	2510 South	nwell Rd. #112
			Arlingt	on, TX 76094		TX 75234		, TX 76011		TX 75229
	:::::::::::::::::::::::::::::::::::::::		817-	345-0937 (P)	972-62	20-7306 (P)	817-695	5-6519 (P)	972-24	3-4194 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)			No	Fax Listed	No F	ax Listed	No Fa	x Listed	No F	ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017			sidh@a	ccontrolinc.com	paul@avancoe	environmental.com	demetrius	@dtechit.net	tkmatt@s	sbcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS		લવલવલ								
BUYER: LENORA SEVILLIAN									Recomm	nend Award
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT										
NCTRCA Certified Vendor (M/WBE)		ananan		Yes	Yes		В	lank		Yes
OTHER MINORITY CERTIFICATION				HUB		SBA	В	lank	E	Blank
EEO1 FORM				Yes		Yes	\	/es		Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?				No		Yes		No		Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?			1		Letter DC			mail		Website
ADDENDUM RETURNED?			Letter DC N/A		N/A			V/A		N/A
COOPERATIVE PURCHASING?			N/A Yes							Blank
COOFERATIVE FORCIASING:	FOTHATED			162	Yes		<u>'</u>	Yes		Nain
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST COST EXTENSION		UNIT COST COST EXTENSION		UNIT COST COST EXTENSION		UNIT COST	COST EXTENSION
Turn Around Time:				10-days	10-days		10-days		10)-days
Cost per Test:	6	EACH	\$45.00	\$270.00	\$45.00 \$270.00		\$50.00 \$300.00		\$22.00	\$132.00
				·						
Type of Test: Viable Fungal Genus Indentification/Quantification - Anderson Plate Culture										
Test Method: (Insert Test Method)			Di	rect Exam	Microso	copic Direct	EPA	305-1	EP/	A 305-1
Turn Around Time:				10-days	10-days		· · · · · · · · · · · · · · · · · · ·		10)-days
Cost per Test:	6	EACH	\$40.00	\$240.00	\$35.00 \$210.00		\$40.00	\$240.00	\$25.00	\$150.00
				·						
Type of Test: Viable Fungal Genus Indentification/Qualification - Anderson Plate Bacterial										
Test Method: (Insert Test Method)			Di	rect Exam	Microso	copic Direct	EPA	305-1	EP/	A 305-1
Turn Around Time:				10-days	10)-days	10-	-days	10)-days
Cost per Test:	6	EACH	\$40.00	\$240.00	\$125.00	\$750.00	\$55.00	\$330.00	\$20.00	\$120.00
Type of Test: Colorimetric chemical detector tubes including pump										
Test Method:				Air		Air	,	Air		Air
Turn Around Time:				N/A		N/A	N	V/A		N/A
Cost per Test:	10	EACH	\$95.00	\$950.00	\$85.00	\$850.00	\$1,000.00	\$10,000.00	\$35.00	\$350.00
11. Test Category: Soil/Water/Air/Other - Characterization										
The of Test Testable Observational Land 19 Day 19 Co. 1 (70)										
Type of Test: Toxicity Characteristic Leaching Procedure for Lead Only (TCLP Lead)										
Test Method:			EPA 1311,	7000, Series/6020	EPA 1311, 7	'000,Series/6020	EPA 1311, 70	00, Series/6020	EPA 1311, 7	000, Series/6020
Turn Around Time:		FACU	5-days		5-days					-days
Cost per Test:	6	EACH	\$90.00	\$540.00	\$120.00	\$720.00	\$55.00	\$330.00	\$25.00	\$150.00
Type of Test: RCRA Characteristics (Includes: Reactivity, Ignitability, Corrosively, and Paint Filter Test)										

DALLAS COUNTY BID TABULATION			VE	NDOR #1	VEN	IDOR #2	VEN	DOR #3	VEI	NDOR #4
DID NO. 2017 200 7500			A.t 5 :			. donoune about 1	DIES	I Candana	EDIE :	atal Taskasi
BID NO. 2016-002-6539				onmental Control, Inc.		vironmetal, Inc.		H Services		ntal Technology, Inc.
ANNUAL CONTRACT FOR ACRECTOC MOLD LEAD				id Hozhabri		anCompernolle		etrius Cook		thony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD				President		Officer		incipal		Owner #112
ASSESSMENT AND CONSULTANT SERVICES	13113113			Box 14326 on, TX 76094	,	ew Lane, Suite 113 TX 75234	· ·	Drive, Suite 242 n, TX 76011		hwell Rd. #112 . TX 75229
				45-0937 (P)		20-7306 (P)		5-6519 (P)		43-4194 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)				Fax Listed		ax Listed		ax Listed		ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017				controlinc.com		environmental.com	demetrius@dtechit.net			sbcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS			Sidiredo	CONTROLLIC.COM	padicavancoc	<u>STIVILOTITICHTCHTCHTCOTT</u>	demetrids	<u>C dtccriit.rict</u>	innute	<u> </u>
BUYER: LENORA SEVILLIAN									Recom	mend Award
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT	19119119	010101010101	1						Recom	mena / mara
NCTRCA Certified Vendor (M/WBE)				Yes	Yes		F	Blank		Yes
OTHER MINORITY CERTIFICATION			HUB		SBA			Blank		Blank
EEO1 FORM	199999		Yes					Yes		Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?			Yes No		Yes			No		Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?			Letter DC			Yes Letter DC		mail	DC.	Website
ADDENDUM RETURNED?	199999			N/A	Letter DC			N/A	DC	N/A
COOPERATIVE PURCHASING?				Yes	N/A Vos			Yes		Blank
COOPERATIVE FUNCTIASING:	FCTMATED		Yes		Yes			163		DIGITA
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST COST EXTENSION		UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Test Method:			EPA 7.3.4.2/7.3.3.2	1030/1010 9040B / 150.1		EPA 7.3.4.2 / 7.3.3.2 1030/1010 9040B/ 150.1		EPA 7.3.4.2/ 7.3.3.2 1030/1010 9040B/ 150.1		3.2 1030/1010 9040B/ 150.1
Turn Around Time:				5-days	5-days		5-days		Ę	i-days
Cost per Test:	6	EACH	\$130.00	\$780.00	\$125.00	\$750.00	\$80.00	\$480.00	\$15.00	\$90.00
0.11.0.5.1.117.11										
Section C: Environmental Training										
12. Training Type: Asbestos Awareness Training (price to include all reading/instruction materials for each student attending the training session, all transportation including fuel surcharges, travel and mileage charges (if applicable). All training will be conducted by a professional trained or certified instructor. Contractor shall also provide the associated Certificate of Completion to each class participant.										
Specify Cost per Student at Vendor Training Facility located in Dallas County:		Per Student	\$60.00 (10 min.)	\$60.00	\$50.00	\$50.00	\$100.00	\$100.00	\$75.00	\$75.00
Specify Cost per Class On-Site Training at Dallas County Facility:		Per Class	\$650.00	\$650.00	\$600.00	\$600.00	\$850.00	\$850.00	\$850.00	\$850.00
Specify the Maximum Number of Students per Class for On-Site Training at Dallas County Facility:			١	lo Max.		0		20		25
Class duration (number of instructional hours per day):		Hours	2			2		2		2
13. Training Type: Lead-Based Paint Regulatory and Mold Awareness Training (price to include all reading/instruction materials for each strudent attending the training session, all transportation including fuel surcharges, travel and mileage charges (if applicable). All training will be conducted by a professional trained and licensed or certified instructor. Contractor shall also provide the associated Certificate of Completion to each class participant.										

DALLAS COUNTY BID TABULATION	150505050505	(5)(5)(5)(5)	VE.	NDOR #1	VEN	IDOR #2	VENI	DOR #3	VEN	DOR #4	
BID NO. 2016-002-6539				onmental Control, Inc.		vironmetal, Inc.		I Services		tal Technology, Inc.	
				Sid Hozhabri		anCompernolle		etrius Cook		nony Ediale	
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD				President		Officer		ncipal		wner	
ASSESSMENT AND CONSULTANT SERVICES	-1999999	999999	1	Box 14326	,	ew Lane, Suite 113	5	Drive, Suite 242		well Rd. #112	
	1333333			on, TX 76094		TX 75234	•	, TX 76011		TX 75229 3-4194 (P)	
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)				345-0937 (P) Fax Listed		20-7306 (P) ax Listed		5-6519 (P)		3-4194 (P) ax Listed	
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017	1999999		•	controlinc.com		environmental.com	No Fax Listed m demetrius@dtechit.net			bcglobal.net	
THREE ADDITIONAL ONE YEAR PERIODS			Siuneau	CONTROLLIC CONT	paul@avaricue	environmental.com	demetrius	<u>eutechit.net</u>	tkillatt@s	<u>bcgiobai.net</u>	
BUYER: LENORA SEVILLIAN			1						Docomm	end Award	
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT	1969999	393999	1						Recomm	ieriu Awaru	
NCTRCA Certified Vendor (M/WBE)	13.13.13		1	Yes	Yes		р	lank	,	Yes	
OTHER MINORITY CERTIFICATION			нив		Yes SBA			lank		lank	
	16666666	494999	Yes								
EEO1 FORM TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?		141111111	,',			Yes Yes		/es		Yes Yes	
			No Letter DC					No mail			
BID NOTIFICATION-HOW WERE YOU NOTIFIED?	1666466		Letter DC			tter DC		maii V/A		Website WA	
ADDENDUM RETURNED?	1999999		N/A		N/A						
COOPERATIVE PURCHASING?	0.0.0.0.0.0.0.0	gegegegege		Yes		Yes	,	/es	В	lank	
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	
Specify Cost per Student at Vendor Training Facility located in Dallas County:		Per Student	\$80.00 (10 min.) \$80.00		\$75.00	\$75.00	\$100.00	\$100.00	\$70.00	\$70.00	
Specify Cost per Class On-Site Training at Dallas County Facility:			\$850.00	\$850.00	\$800.00 \$800.00		\$850.00 \$850.00		\$350.00	\$350.00	
Specifiy the Maximum Number of Students per Class for On-Site Training at Dallas County Facility:			1	No Max.	0		20			20	
Class duration (number of instructional hours per day):		Hours	3		3		2			1	
14. Please list any other environmental training offered by your firm and associated cost:			N/A		Blank		27 Optional Training Classes	\$57,060.00	1	N/A	
							Max	. of 30			
Grand Total:				\$278,606.00		\$417,563.00		\$345,500.00		\$141,563.00	
	4 4 4	. 12 . 12 . 1	10.0200.0200.020		435 (36.436)	121.121.121.121	12101212101		a de la della de la		
Should your firm be awarded this contract, describe what (if any) portion of this bid requirements will be subcontracted out (specify the name of the subcontractor(s) and trade or portion of the work contractor, if available):			10% Laboratory Service		Mold and Lead Services		80% of Lab Analysis to be completed by HUB/women owned business whe possible 100% of Environmental Training.		,	les, lead samples, and atory analysis.	
*Leaving this area blank will mean the vendor will perform ALL portions of the contract with their own in-house staff.											
Specify Prompt/Early Payment Discount Terms (if any):			0%				Blank		lank	N/A	
Please answer the questions below:											
Is the required reference information included with your proposal?				Yes		Yes	\	⁄es	,	⁄es	
			1.55								

DALLAS COUNTY BID TABULATION			V	ENDOR #1	VEI	NDOR #2	VEND	OOR #3	VEN	DOR #4
DID NO. 2017, 002, (520	414141414		A-h F	landa da la la la landa da la	A Fr	udaaaaatal laa	DTECH	Cardana	EDI Facilitation	Ad Taskaslam, Jas
BID NO. 2016-002-6539				ronmental Control, Inc.		vironmetal, Inc.		Services		ntal Technology, Inc.
ANNUAL CONTRACT FOR ACRESTOC MOUNTERED	(33333)			Sid Hozhabri		'anCompernolle		etrius Cook		hony Ediale
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD		444444		ce President		Officer		ncipal Drive, Suite 242		lwner
ASSESSMENT AND CONSULTANT SERVICES	188888	****). Box 14326 ton, TX 76094		iew Lane, Suite 113 , TX 75234	,	TX 76011		nwell Rd. #112 TX 75229
				-845-0937 (P)		, 1X 73234 20-7306 (P)	Ů	-6519 (P)		3-4194 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)	<u> </u>			Fax Listed		ax Listed		x Listed		ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017	1999999	366666		ccontrolinc.com		environmental.com		@dtechit.net		sbcglobal.net
THREE ADDITIONAL ONE YEAR PERIODS			Siuli@a	CCOTH OHIC.COH	paul@avarico	environmental.com	uememuse	<u>eutechit.net</u>	tkillattees	sucgional.Het
BUYER: LENORA SEVILLIAN									Docomn	nend Award
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT	1969699	3666666							Recomin	ienu Awaru
NCTRCA Certified Vendor (MWBE)				Yes		Yes	DI	ank		Yes
OTHER MINORITY CERTIFICATION				HUB		SBA		ank		Blank
EEO1 FORM	944994	344444								
				Yes		Yes		'es		Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?	(66666)			No Latter DC		Yes		Vo		Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?		444444		Letter DC		etter DC		mail		Website
ADDENDUM RETURNED?	199999	****		N/A		N/A		I/A		N/A
COOPERATIVE PURCHASING?	0-0-0-0-0-0-0-	0-0-0-0-0-0-0-0		Yes		Yes	Y	es	Ŀ	Blank
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION		
Specify the name, telephone number and email address of the account representative who will be handling and managing this account. Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes.			81 sidh@a P.0	d Hozhabri 17-845-0937 ccontrolinc.com D.Box 14326 gton, TX 76094	972- paul@avanco 2815 Valley Vi	nCompernolle 620-7306 environmental.com ew Lane, Suite 113 r, TX 75234	BL	ANK	469- ² 2510 Southw	y Ediale 141-4500 ell Rd., Suite 112 TX 75229
Does your firm/company have the required insurance coverage stated under Section 3 - INSURANCE REQUIREMENTS and agree to comply with these requirements during the duration of this contract?				Yes		Yes	Y	es		Yes
If no, will your firm be able to acquire the required coverage within ten (10) days upon notification of contract award?				N/A		N/A	N	//A		N/A
Cooperative Purchasing: Should other Government Entities decide to participate in this contract, would you , the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?				Yes		Yes	Y	es	E	Blank
Note: All purchases by Government Entities other than Dallas County will be billed directly to that Government Entity and paid by that Government Entity. Dallas County will not be responsible for other Government Entity's debt.										
Information on Devicion of Health Insure										
Information on Provision of Health Insurance Coverage for Employees										
Dallas County may consider the provision of health insurance coverage for employees in the bid evaluation process (see Page 4, paragraph 5). Please complete the information below to assist in this evaluation.										
a) Does your company provide health insurance coverage to its employees?				Yes		No	N	No		Yes
b) IF your company does provide health insurance coverage to its employees, does the company share in the cost a minimum of:										
95% for employee only coverage?				No		No	N	/A	В	Blank

		Mr. Sid	nmental Control, Inc. d Hozhabri President 3ox 14326 n, TX 76094 15-0937 (P) ax Listed controlinc.com Yes HUB Yes	Mr. Paul Va O 2518 Valley Vie Dallas, 972-62 No Fa paul@avancoe	vironmetal, Inc. anCompernolle ffficer ew Lane, Suite 113 TX 75234 0-7306 (P) ax Listed environmental.com	Bla Bla	etrius Cook cipal Drive, Suite 242 TX 76011 -6519 (P) k Listed Odlechit.net	Mr. Anth O' 2510 South Dallas, 972-24: No Fa tkmatt@s	htal Technology, Inc. hony Ediale Dwner hwell Rd. #112 TX 75229 3-4194 (P) ax Listed sbcglobal.net hend Award Yes Blank
		Mr. Sid	d Hozhabri President Box 14326 n, TX 76094 I5-0937 (P) ax Listed controlinc.com Yes HUB Yes	Mr. Paul Va O 2518 Valley Vie Dallas, 972-62 No Fa paul@avancoe	anCompernolle Ifficer Ew Lane, Suite 113 TX 75234 0-7306 (P) ax Listed Invironmental.com Yes SBA	Mr. Deme Prin 624 Six Flags [Arlington, 817-695- No Fax demetrius@	etrius Cook cipal Drive, Suite 242 TX 76011 -6519 (P) k Listed Odlechit.net	Mr. Anth O' 2510 South Dallas, 972-24: No Fa tkmatt@s	hony Ediale Dwner Dwnell Rd. #112 TX 75229 3-4194 (P) ax Listed Sbcglobal.net mend Award
		Vice P.O. E Arlingtor 817-84 No F sidh@acc	President Box 14326 n, TX 76094 IS-0937 (P) ax Listed controlinc.com Yes HUB Yes	O 2518 Valley Vie Dallas, 972-62 No Fa paul@avancoe	officer ew Lane, Suite 113 TX 75234 0-7306 (P) ax Listed environmental.com Yes SBA	Prin 624 Six Flags [Arlington, 817-695- No Fax demetrius@	cipal Drive, Suite 242 TX 76011 -6519 (P) Listed dlechit.net	Or 2510 South Dallas, 972-243 No Fa tkmatt@s	Owner nwell Rd. #112 TX 75229 3-4194 (P) ax Listed sbcglobal.net nend Award
		P.O. t Arlingtor 817-84 No F <u>sidh@acc</u>	3ox 14326 n, TX 76094 15-0937 (P) ax Listed controlinc.com	2518 Valley Vic Dallas, 972-62 No Fa paul@avancoe	ew Lane, Suite 113 TX 75234 0-7306 (P) ax Listed environmental.com Yes SBA	624 Six Flags [Arlington, 817-695- No Fax demetrius@	Drive, Suite 242 TX 76011 -6519 (P) CListed Odechit.net	2510 South Dallas, 972-24: No Fa tkmatt@s	well Rd. #112 TX 75229 3-4194 (P) ax Listed sbcglobal.net nend Award Yes
		Arlingtor 817-84 No F sidh@acc	n, TX 76094 15-0937 (P) ax Listed controlinc.com Yes HUB	Dallas, 972-62 No Fa paul@avancoe	TX 75234 0-7306 (P) ax Listed environmental.com Yes	Arlington, 817-695- No Fax demetrius@ Bla	TX 76011 -6519 (P) k Listed dtechit.net	Dallas, 972-24: No Fa tkmatt@s	TX 75229 3-4194 (P) ax Listed sbcglobal.net nend Award Yes
		817-84 No F <u>sidh@acc</u>	is-0937 (P) iax Listed controlinc.com Yes HUB Yes	972-62 No Fa paul@avancoe	0-7306 (P) ax Listed	817-695 No Fax demetrius@ Bia	-6519 (P) k Listed dtechit.net ank	972-24; No Fa <u>tkmatt@s</u> Recomm	3-4194 (P) ax Listed sbcglobal.net nend Award Yes
		No F sidh@acc	Yes HUB Yes	No Fa	ax Listed Invironmental.com Yes SBA	No Fax demetrius@ Bia Bia	k Listed dtechit.net ank	No Fa <u>tkmatt@s</u> Recomm	ax Listed sbcglobal.net nend Award Yes
			Yes HUB Yes	,	Yes SBA	Bla Bla	ank ank	Recomm	nend Award Yes
			HUB Yes	(SBA	Bla	ank	,	Yes
			HUB Yes	(SBA	Bla	ank	,	Yes
			HUB Yes	(SBA	Bla	ank		
			HUB Yes	(SBA	Bla	ank		
			Yes					В	lank
				,	.,	V			
					Yes	Yes		Yes	
0.000			No	Yes		N	lo	,	Yes
* : * : * : * : * :	: 0: 0: 0: 0: 0: 0: 0: 0	Letter DC		Let	ter DC	Em	nail	DC \	Website
			N/A		N/A	N.	/A	1	N/A
			Yes	Yes		Y	es	В	Blank
estimated Annual Quantity	UNIT OF MEASURE	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
			No		No	N/	/A	В	Blank
			No		No	N	/A	В	Blank
			No		No	N	/A	'	Yes
			Yes		No	Bla	ank	,	Yes
			No		No	Bla	ank	,	Yes
				No No Yes	No No No Yes	No N	No N	No No N/A N/A No N/A N/A No N/A N/A No N/A N/A No No N/A N/A Blank	No No N/A B No No N/A B No No N/A N/A Yes No Blank

DALLAC COUNTY DID TADLII ATION	1.00		V	'ENDOR #5	V/FN	IDOR #6	VE	ENDOR #7	VENI	DOR #8
DALLAS COUNTY BID TABULATION	44.44	.:			VEIN	IDUK #0	VE	INDUR#1	VEINI	JUK #8
BID NO. 2016-002-6539	9 9		ERC ENVIRON	mental and Construction Services	Farmer Environ	mental Group, LLC	LCA En	vironmental, Inc.	DASS Ass	sociates, Inc.
DID NO. 2010-002-0337	3 3	3	Mr Ko	mmy M. Azarpour		g W. Farmer		ary Ann Clark		s C. Jensen
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD	44.4			President		ecutive Officer		President		sultant
ASSESSMENT AND CONSULTANT SERVICES	41.4	.:		erly Boulevard, Suite 100		Drive, Suite 130		1 Bee Street		Shady Trail
7.60250MEIN 7115 0011602 71111 021111620	13.13			ston, TX 77043		n, TX 75010		s, TX 75234		TX 75229
	4 4			-290-9444 (P)		0-8014 (P)		1-6680 x-23(P)		2-7065 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)	9 9	160		-290-9441 (F)		ax Listed		241-6689 (F)		x Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017	11 11	.:		our@erc-tx.com		@farmereq.com		Aenvironmental.com		@sbcglobalnet
THREE ADDITIONAL ONE YEAR PERIODS	3 3									
BUYER: LENORA SEVILLIAN	499.9	• • •								
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT	2 2	.:								
NCTRCA Certified Vendor (M/WBE)	3 3			No	No F	ax Listed		Yes	\	/es
OTHER MINORITY CERTIFICATION	49.49			N/A		N/A		N/A		N/A
EEO1 FORM	11111	.:		Yes		Yes		Yes		/es
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?	:: ::			No		Yes		Yes		/es
BID NOTIFICATION-HOW WERE YOU NOTIFIED?	100	.:	Lead Gen	erating Subscription		Net Website		Email		mail
ADDENDUM RETURNED?	19 9	. :	2000 0011	N/A		N/A		N/A		N/A
COOPERATIVE PURCHASING?	3 3	:		Yes		Yes		No		/es
occi Elanine i dicensione	ESTIMAT	ED.		100	}	. 55				. 65
DESCRIPTION	ANNUA	۱L	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
	QUANTI	TY				271121101011				271121101011
Section A. Assessment and Consultation Services	13.13		12 12 12		3 3 3	1019101910191	31131131		19 19 19	
Asbestos Services(must be trained, approved, and licensed or certified	40.00		4 4 4				4 (4 (4)	44.4.4.4		
in accordance to TDSHS requirements).	9.9		191919		19119119		9 9 9			
	1100	2.5	470.00	477.000.00	405.00	400 500 00	400.00	400,000,00	A/0.00	
Asbestos Consultant Asbestos Inspector	1100 1400		\$70.00 \$50.00	\$77,000.00	\$85.00 \$60.00	\$93,500.00 \$84,000.00	\$90.00 \$65.00	\$99,000.00 \$91,000.00	\$60.00 \$40.00	\$66,000.00 \$56,000.00
Asbestos Project Manager	1350		\$50.00	\$70,000.00 \$67,500.00	\$50.00	\$67,500.00	\$80.00	\$108,000.00	\$40.00 \$15.00	\$20,250.00
Asiesius Project Manager Air Monitoring Technician	500		\$40.00	\$20,000.00	\$50.00	\$25,000.00	\$60.00	\$30,000.00	\$15.00	\$20,230.00
Clerical	1000		\$30.00	\$30,000.00	\$30.00	\$30,000.00	\$45.00	\$45,000.00	\$10.00	\$10,000.00
Inspection/Assessment Report (including final report)	40		\$300.00	\$12,000.00	\$250.00	\$10,000.00	\$300.00	\$12,000.00	\$250.00	\$10,000.00
Abatement Plan/Specifications Report	20		\$400.00	\$8,000.00	\$500.00	\$10,000.00	\$500.00	\$10,000.00	\$500.00	\$10,000.00
Mileage Charge (if applicable)	3600		\$0.50	\$1,800.00	\$0.60	\$2,160.00	\$0.575	\$2,070.00	\$0.55	\$1,980.00
, , , , ,	0000		ψοίου	\$1,000.00	\$0.00	\$27.00.00	\$0.070	\$2,070.00	\$0.00	\$17700.00
Minimum Service Charge (Note: Dallas County will only pay the minimum service charge amount or the actual time worked, whichever is greater).			\$200.00	\$200.00	\$250.00	\$250.00	\$200.00	\$200.00	\$250.00	\$250.00
Specifiy surcharge (if any) for Emergency Service Request:% of fees stated	•							•		
above. (Note: Emergency Service is defined as any request that requires an				20%	,	50%		150%	5	0%
immediate on-site response time of two (2) hours or less, after hours, and				2070		5676		10070		070
weekend work).				l		I		1		I
2 London d Modd Comiton (result had to the continue of the con	0.0000000000000000000000000000000000000	0.46	-0.461-0.461-0.461	-0.4540.454540.4540.454	, * § + 0 * § + 0 * §	• 0.45+ 0.45+ 0.45+	,		0.4640.4640.464	0146401464014640
Lead and Mold Services (must be trained, approved, and licensed or certified in accordance to TDSHS requirements.).	1	.:								
Lead Abatement Project Designer	200	0.00	\$70.00	\$14,000.00	\$85.00	\$17,000.00	\$90.00	\$18,000.00	\$20.00	\$4,000.00
Lead Inspector	300		\$50.00	\$14,000.00	\$70.00	\$17,000.00	\$65.00	\$19,500.00	\$20.00	\$13,500.00
Lead Risk Assessor	300		\$60.00	\$18,000.00	\$70.00	\$21,000.00	\$65.00	\$19,500.00	\$45.00	\$13,500.00
Mold Assessment Consultant	150		\$70.00	\$10,500.00	\$80.00	\$12,000.00	\$90.00	\$13,500.00	\$60.00	\$9,000.00
								, .,		
Mold Asssessment Technician	200		\$60.00	\$12,000.00	\$65.00	\$13,000.00	\$65.00	\$13,000.00	\$20.00	\$4,000.00
Indoor Air Quality Technician	200		\$50.00	\$10,000.00	\$65.00	\$13,000.00	\$65.00 \$45.00	\$13,000.00	\$20.00	\$4,000.00
Clerical	300		\$30.00	\$9,000.00	\$30.00 \$250.00	\$9,000.00	\$45.00 \$250.00	\$13,500.00	\$10.00	\$3,000.00 \$5,000.00
Inspection/Assessment Report (including final report) Abatement Plan/Specifications Report	10		\$300.00 \$400.00	\$6,000.00 \$4,000.00	\$250.00 \$500.00	\$5,000.00 \$5,000.00	\$350.00 \$500.00	\$7,000.00 \$5,000.00	\$250.00 \$500.00	\$5,000.00
Mileage Charge (if applicable)	1000		\$0.50	\$500.00	\$0.60	\$600.00	\$0.575	\$5,000.00	\$0.55	\$5,000.00
wineage onarge (ii applicable)	1000		φυίθυ	φ500.00	φυ.00	φυσυ.υυ	φυ.575	φ373.00	φυ.υυ	φυυυ.υυ

DALLAS COUNTY BID TABULATION	1515515	\	/ENDOR #5	VEN	IDOR #6	VI	ENDOR #7	VENI	OOR #8
		ERC Environ	mental and Construction						
BID NO. 2016-002-6539	44-44-4		Services		mental Group, LLC	LCA En	vironmental, Inc.		ociates, Inc.
		Mr. Ko	mmy M. Azarpour		g W. Farmer		lary Ann Clark		C. Jensen
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD		40004.11	President		ecutive Officer		President		sultant
ASSESSMENT AND CONSULTANT SERVICES	-		erly Boulevard, Suite 100 ston, TX 77043	,	/ Drive, Suite 130 n, TX 75010		21 Bee Street as, TX 75234		hady Trail TX 75229
			3-290-9444 (P)		10-8014 (P)		1-6680 x-23(P)	,	2-7065 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)	148-48-48		3-290-9441 (F)		ax Listed		241-6689 (F)		x Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017			our@erc-tx.com		@farmereg.com		Aenvironmental.com		©sbcglobalnet
THREE ADDITIONAL ONE YEAR PERIODS									
BUYER: LENORA SEVILLIAN	1414141111								
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT									
NCTRCA Certified Vendor (M/WBE)			No	No F	ax Listed		Yes	\	'es
OTHER MINORITY CERTIFICATION	146946946		N/A		N/A		N/A	1	V/A
EEO1 FORM			Yes		Yes		Yes	\	'es
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?			No		Yes		Yes	1	'es
BID NOTIFICATION-HOW WERE YOU NOTIFIED?	138388	Lead Ger	nerating Subscription	4	Net Website		Email		mail
ADDENDUM RETURNED?			N/A		N/A		N/A	1	I/A
COOPERATIVE PURCHASING?			Yes		Yes		No	\	'es
DESCRIPTION	ESTIMATED ANNUAL	UNIT COST	COST EXTENSION	UNIT COST	COST	UNIT COST	COST EXTENSION	UNIT COST	COST
	QUANTITY				EXTENSION				EXTENSION
Minimum Service Charge (Note: Dallas County will only pay the minimum		\$200.00	\$200.00	\$250.00	\$250.00	\$200.00	\$200.00	\$250.00	\$250.00
service charge amount or the actual time worked, whichever is greater).		\$200.00	\$200.00	\$250.00	\$250.00	\$200.00	\$200.00	\$250.00	\$250.00
Specify surcharge (if any) for Emergency Service Request:% of fees stated			20%		50%		150%	5	0%
above. (Note: Emergency Service is defined as any request that requires an									
Section B: Laboratory Testing Services	13113113	388888	aaaaaaaaaa	0.0000	3333333	0.000000		anaana.	
Price per test shall include all sample analysis costs, including but not		11111111111							
limited to, materials necessary to collect samples, time and materials									
necessary to process each sample in the laboratory, record maintenance,	14:44:44			999999		999999		સંસંસ્થિતિ	19119999
and facsimile transmission of results, within the specified turnaround time,									
the Contractor shall send results of the analysis to Dallas County via									
facsimile transmission. A written report of the analysis must follow within	146946946			999999		999999		44444444	49449999
ten (10) business days of transmission.	1111111111111								
3. Test Category: Asbestos Sampling and Analysis	14:04:04:							સંસંસ્કૃતિસ	
	1.0000.0000.000			eterreterater					
Type of Test: Asbestos Sampling by PCM									
Turn Around Time:			1-day		-day		1-day		day
Cost per test:	200	\$10.00	\$2,000.00	\$10.00	\$2,000.00	\$15.00	\$3,000.00	\$5.00	\$1,000.00
Type of Test: Asbestos Sampling by PLM									
Turn Around Time:			1-day	1	-day		1-day	1-	day
Cost per Test:	400	\$15.00	\$6,000.00	\$15.00	\$6,000.00	\$15.00	\$6,000.00	\$12.00	\$4,800.00
Type of Test: Asbestos Sampling by PLM-Point Count									
Turn Around Time:			1-day		-day		1-day		day
Cost per Test:	20	\$35.00	\$700.00	\$40.00	\$800.00	\$40.00	\$800.00	\$35.00	\$700.00
4. Test Category: Asbestos Sampling and Analysis	01010101010								1901191191
T CT LALL C F L TEX									
Type of Test: Asbestos Sampling by TEM									

DALLAS COUNTY BID TABULATION	93193333	1	/ENDOR #5	VEN	DOR #6	VE	ENDOR #7	VEN	DOR #8
		ERC Environ	mental and Construction						
BID NO. 2016-002-6539			Services		mental Group, LLC	LCA Env	vironmental, Inc.		sociates, Inc.
		Mr. Ko	mmy M. Azarpour	,	W. Farmer		lary Ann Clark		s C. Jensen
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			President		cutive Officer		President		sultant
ASSESSMENT AND CONSULTANT SERVICES			erly Boulevard, Suite 100		Drive, Suite 130		1 Bee Street		Shady Trail
	10 10 10		ston, TX 77043		n, TX 75010		is, TX 75234		TX 75229
			3-290-9444 (P)		0-8014 (P)		1-6680 x-23(P)		2-7065 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)			3-290-9441 (F)		ax Listed		241-6689 (F)		ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017	100 100 10	<u>kazarp</u>	our@erc-tx.com	<u>craig.farmer@</u>	@farmereg.com	maryann@LC	Aenvironmental.com	<u>louis.jensen@</u>	@sbcglobalnet
THREE ADDITIONAL ONE YEAR PERIODS									
BUYER: LENORA SEVILLIAN									
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT									
NCTRCA Certified Vendor (M/WBE)			No	No Fa	ax Listed		Yes	,	Yes
OTHER MINORITY CERTIFICATION			N/A	1	N/A		N/A	1	N/A
EEO1 FORM			Yes	,	Yes		Yes	,	Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?			No	,	Yes		Yes	,	Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?		Lead Ger	nerating Subscription	Envirobid	Net Website		Email	E	mail
ADDENDUM RETURNED?			N/A	1	N/A		N/A	!	V/A
COOPERATIVE PURCHASING?			Yes	,	Yes		No	,	Yes
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Turn Around Time:	QUANTITI		1-day	1.	-day		1-day	1.	-day
Cost per Test:	16	\$70.00	\$1,120.00	\$55.00	\$880.00	\$55.00	\$880.00	\$75.00	\$1,200.00
oust put rest.	10	\$70.00	\$1,120.00	\$55.00	ψ000.00	ψ55.00	ψ000.00	Ψ73.00	\$1,200.00
Type of Test: Micro-Vac									
Turn Around Time:			1-day	1	-day		1-day	1	-day
Cost per Test:	4	\$70.00	\$280.00	\$100.00	\$400.00	\$99.00	\$396.00	\$30.00	\$120.00
		, , , , ,		,	,	,		,	
Type of Test: Asbestos Sampling by PCM									
Turn Around Time:			2-days	2-	days		2-days	2-	days
Cost per Test:	200	\$5.00	\$1,000.00	\$8.00	\$1,600.00	\$10.00	\$2,000.00	\$5.00	\$1,000.00
Type of Test: Asbestos Sampling by PLM									
Turn Around Time:			2-days	2-	days		2-days	2-	days
Cost per Test:	400	\$15.00	\$6,000.00	\$10.00	\$4,000.00	\$10.00	\$4,000.00	\$10.00	\$4,000.00
Type of Test: Asbestos Sampling by PLM-Point Count								_	
Turn Around Time:			2-days		days		2-days		days
Cost per Test:	20	\$35.00	\$700.00	\$28.00	\$560.00	\$30.00	\$600.00	\$20.00	\$400.00
Type of Test: Asbestos Sampling by TEM									
Turn Around Time:			2-days	2	days		2-days	2_	days
Cost per Test:	16	\$65.30	\$1,044.80	\$65.00	\$1,040.00	\$55.00	\$880.00	\$75.00	\$1,200.00
000t por 100t.	10	ψ00.30	Ψ1,044.00	φυσ.υυ	ψ1,040.00	ψ55.00	φοσο.σο	Ψ73.00	ψ1,200.00
Type of Test: Micro-Vac									
Turn Around Time:			2-days	2-	days		2-days	2-	days
Cost per Test:	4	\$150.00	\$600.00	\$80.00	\$320.00	\$82.00	\$328.00	\$30.00	\$120.00
	· ·				, , , , , , , ,				, 13.22
Type of Test: PLM Analysis - Friable ACM									
Test Method:			BULK	В	ULK		BULK	В	ULK
Turn Around Time:			1-day	1	-day		1-day	1	-day
Cost per Test:	100	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$10.00	\$1,000.00
Type of Test: PLM Analysis-Friable ACM									

DALLAS COUNTY BID TABULATION		V	'ENDOR #5	VEN	DOR #6	VE	NDOR #7	VEN	DOR #8
			mental and Construction						
BID NO. 2016-002-6539	_0464646464		Services		mental Group, LLC		vironmental, Inc.		sociates, Inc.
			mmy M. Azarpour		g W. Farmer		ary Ann Clark		s C. Jensen
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			President		cutive Officer		President		sultant
ASSESSMENT AND CONSULTANT SERVICES	_88888888		erly Boulevard, Suite 100	,	Drive, Suite 130		1 Bee Street		Shady Trail
			ston, TX 77043 -290-9444 (P)		n, TX 75010 0-8014 (P)		s, TX 75234		TX 75229
ODENING DATE, OCTODED 20, 2015 @ 2,000M (CT)	-::::::::::::::::::::::::::::::::::::::		-290-9444 (P) -290-9441 (F)		o-8014 (P) ax Listed		1-6680 x-23(P) 241-6689 (F)		2-7065 (P) ax Listed
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)									
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017		Kazarp	our@erc-tx.com	<u>craig.rarmer</u>	@farmereg.com	maryanneco	Aenvironmental.com	iouis.jensend	@sbcglobalnet
THREE ADDITIONAL ONE YEAR PERIODS	- 6 6 6 6								
BUYER: LENORA SEVILLIAN	-144444								
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT	49.99.9								,
NCTRCA Certified Vendor (M/WBE)	_ :: :: :: ::		No		ax Listed		Yes		Yes
OTHER MINORITY CERTIFICATION			N/A		N/A		N/A		N/A
EEO1 FORM	_6996994		Yes		Yes		Yes		Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?			No		Yes		Yes		Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?		Lead Gen	erating Subscription		Net Website		Email		mail
ADDENDUM RETURNED?			N/A		N/A		N/A		N/A
COOPERATIVE PURCHASING?	048-048-048		Yes		Yes		No	`	Yes
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Test Method:			BULK	В	ULK		BULK	В	ULK
Turn Around Time:			4 Hours	4 1	Hours	4 Hours		4 H	Hours
Cost per Test:	10	\$25.00	\$250.00	\$18.00	\$180.00	\$19.00	\$190.00	\$15.00	\$150.00
Type of Test: PLM Analysis - NOB ACM									
Test Method:			BULK		ULK		BULK		ULK
Turn Around Time:			2-days	2-	days		2-days	2-	days
Cost per Test:	100	\$30.00	\$3,000.00	\$60.00	\$6,000.00	\$10.00	\$1,000.00	\$6.00	\$600.00
5. Test Category: Asbestos Sampling and Analysis				19119119					
Type of Test: TEM Analysis - Friable ACM								_	
Test Method:	_		BULK		ULK		BULK		ULK
Turn Around Time:	- 1/	#100.00	2-days		days		2-days		days
Cost per Test:	16	\$108.00	\$1,728.00	\$65.00	\$1,040.00	\$66.00	\$1,056.00	\$50.00	\$800.00
Type of Test: TEM Analysis - NOB ACM	_								
Test Method:	_		BULK	B	ULK		BULK	R	ULK
Turn Around Time:			2-days		days		2-days		days
Estimated Quantity:	16	\$118.00	\$1,888.00	\$65.00	\$1,040.00	\$66.00	\$1,056.00	\$50.00	\$800.00
		7.1.0.00	¥ 1/222.22	7 3 3 3 3	Ţ 1/0 10100	700.00	71/100000	,,,,,,,	,,,,,,,,
Type of Test: PCM Analysis-ACM									
Test Method:			AIR		AIR		AIR	,	AIR
Turn Around Time:			1-day	1	-day		1-day	1-	-day
Cost per Test:	70	\$10.00	\$700.00	\$8.00	\$560.00	\$15.00	\$1,050.00	\$5.00	\$350.00
Type of Test: PCM Analysis - ACM									
Test Method:			AIR		AIR		AIR	,	AIR
Turn Around Time:			4 Hours	4	Hours	4	4 Hours	4 F	Hours
Cost Per Test:	10	\$15.30	\$153.00	\$10.00	\$100.00	\$19.00	\$190.00	\$5.00	\$50.00
6. Test Category: Lead Sampling and Analysis						ananan			10:10:11

DALLAS COUNTY BID TABULATION	111111111111111111111111111111111111111	V	ENDOR #5	VEN	IDOR #6	VE	NDOR #7	VENI	OOR #8
		ERC Environr	nental and Construction						
BID NO. 2016-002-6539			Services	Farmer Environ	mental Group, LLC	LCA Env	rironmental, Inc.	PASS Ass	ociates, Inc.
		Mr. Koi	nmy M. Azarpour	Mr. Crai	g W. Farmer	Ms. M	ary Ann Clark	Mr. Louis	C. Jensen
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			President	Chief Exe	ecutive Officer	P	resident	Cons	sultant
ASSESSMENT AND CONSULTANT SERVICES			erly Boulevard, Suite 100	,	Drive, Suite 130		1 Bee Street		hady Trail
	_8999999		ton, TX 77043		n, TX 75010		s, TX 75234		TX 75229
			-290-9444 (P)		0-8014 (P)		I-6680 x-23(P)		2-7065 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)	_ 3 3 3		-290-9441 (F)		ax Listed		241-6689 (F)		x Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017		kazarp	our@erc-tx.com	craig.farmer	@farmereg.com	maryann@LC	Aenvironmental.com	louis.jensen@	<u> Sbcglobalnet</u>
THREE ADDITIONAL ONE YEAR PERIODS									
BUYER: LENORA SEVILLIAN									
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT									
NCTRCA Certified Vendor (M/WBE)			No	No F	ax Listed		Yes	Y	'es
OTHER MINORITY CERTIFICATION			N/A		N/A		N/A	N	I/A
EEO1 FORM			Yes		Yes		Yes	Υ	'es
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?	150.50.5		No		Yes		Yes	Υ	'es
BID NOTIFICATION-HOW WERE YOU NOTIFIED?		Lead Gen	erating Subscription	Envirobio	Net Website		Email	Eı	mail
ADDENDUM RETURNED?			N/A		N/A		N/A	Ŋ	I/A
COOPERATIVE PURCHASING?			Yes		Yes		No	Υ	'es
DESCRIPTION	ESTIMATED ANNUAL	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
T. (T.) 0 1 1 10	QUANTITY								
Type of Test: Lead Sampling Air by AAS	_		1		4		1	1	d
Turn Around Time:		#15.00	1-day		-day		1-day		day
Cost per Test:	20	\$15.00	\$300.00	\$12.00	\$240.00	\$44.00	\$880.00	\$15.00	\$300.00
Type of Test: Lead Sampling Bulk by AAS	_								
Turn Around Time:	_		1-day	1	-day		1-day	1	day
Cost per Test:	20	\$15.00	\$300.00	\$12.00	\$240.00	\$44.00	\$880.00	\$10.00	\$200.00
Cost per rest.	20	\$15.00	\$300.00	\$12.00	\$240.00	\$44.00	\$000.00	\$10.00	\$200.00
Type of Test: Lead Sampling Dust by AAS	_								
Turn Around Time:	_		1-day	1	-day		1-day	1-	day
Cost per Test:	20	\$15.00	\$300.00	\$12.00	\$240.00	\$44.00	\$880.00	\$15.00	\$300.00
		\$10.00	4000.00	V12.00	Ψ2 10.00	\$11100	4000.00	\$10.00	+ + + + + + + + + + + + + + + + + + +
Type of Test: Lead Sampling Soil by AAS									
Turn Around Time:			1-day	1	-day		1-day	1-	day
Cost per Test:	20	\$15.00	\$300.00	\$12.00	\$240.00	\$44.00	\$880.00	\$15.00	\$300.00
Type of Test: Lead Sampling STLC									
Turn Around Time:			1-day	1	l-day		1-day	1-	day
Cost per Test:	20	\$30.00	\$600.00	\$200.00	\$4,000.00	\$165.00	\$3,300.00	\$15.00	\$300.00
Type of Test: Lead Sampling TTLC	_								
Turn Around Time:	_		1-day	1	l-day		1-day	1	day
Cost per Test:	20	\$15.00	\$300.00	\$45.00	\$900.00	\$165.00	\$3,300.00	\$15.00	\$300.00
ουστροί τουτ.		ψ10.00	ψυσυ.συ	ψτ3.00	ψ / Ο Ο . Ο Ο	ψ100.00	ψυ,υυυ.υυ	ψ13.00	ψ500.00
Type of Test: Lead Sampling Air by AAS									
Turn Around Time:			2-days	2	-days		2-days	2-0	days
Cost per Test:	40	\$12.00	\$480.00	\$9.00	\$360.00	\$35.00	\$1,400.00	\$10.00	\$400.00
Type of Test: Lead Sampling Bulk by AAS									
Turn Around Time:			2-days		-days		2-days		days
Cost per Test:	40	\$12.00	\$144.00	\$9.00	\$108.00	\$35.00	\$315.00	\$10.00	\$350.00
Typo of Tost: Load Sampling Dust by AAS	_								
Type of Test: Lead Sampling Dust by AAS									

DALLAS COUNTY BID TABULATION		1	/ENDOR #5	VEN	DOR #6	VE	ENDOR #7	VEN	DOR #8
		ERC Environ	mental and Construction						
BID NO. 2016-002-6539	_0909999		Services		mental Group, LLC		vironmental, Inc.		sociates, Inc.
		Mr. Ko	mmy M. Azarpour	,	y W. Farmer		lary Ann Clark		s C. Jensen
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD	_::::::::::::::::::::::::::::::::::::::	40004.11	President		cutive Officer		President		sultant
ASSESSMENT AND CONSULTANT SERVICES	-!!!!!!!!!!!		erly Boulevard, Suite 100 ston, TX 77043	,	Drive, Suite 130 n, TX 75010		1 Bee Street s, TX 75234		Shady Trail TX 75229
	-		3-290-9444 (P)		0-8014 (P)		1-6680 x-23(P)		2-7065 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)			3-290-9441 (F)		ax Listed		241-6689 (F)		ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017			oour@erc-tx.com		@farmereg.com		Aenvironmental.com		@sbcglobalnet
THREE ADDITIONAL ONE YEAR PERIODS		Kazarı	odi e cic-tx.com	<u>craig.ramicre</u>	eramicreg.com	maryanneco	ACTIVIONITICITAL.COM	iouis.jcriscris	= 3bcglobalnct
BUYER: LENORA SEVILLIAN									
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT									
NCTRCA Certified Vendor (M/WBE)	-		No	No F:	ax Listed		Yes	,	Yes
OTHER MINORITY CERTIFICATION			N/A		N/A		N/A		N/A
EEO1 FORM			Yes		Yes		Yes		Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?			No	4	Yes		Yes		Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?		Lead Cor	nerating Subscription	4	Net Website		Email		mail
ADDENDUM RETURNED?		Lead Gei	N/A	*	N/A		N/A		N/A
COOPERATIVE PURCHASING?	-9:::::::::::::::::::::::::::::::::::::		Yes		Yes		No		Yes
COOPERATIVE FORCINGSING:	ECTIMATED		163	1	163		INU		. 63
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Turn Around Time:			2-days	2-	days		2-days	2-	days
Cost per Test:	40	\$12.00	\$480.00	\$9.00	\$360.00	\$35.00	\$1,400.00	\$10.00	\$400.00
Type of Test: Lead Sampling Soil by AAS			0.1				2.1		
Turn Around Time:	40	\$12.00	2-days \$480.00	\$9.00	days	\$35.00	2-days	\$10.00	days \$400.00
Cost per Test:	40	\$12.00	\$400.00	\$9.00	\$360.00	\$55.00	\$1,400.00	\$10.00	\$400.00
Type of Test: Lead Sampling STLC									
Turn Around Time:			2-days	2-	days		2-days	2-	days
Cost per Test:	40	\$30.00	\$1,200.00	\$200.00	\$8,000.00	\$105.00	\$4,200.00	\$10.00	\$400.00
Type of Test: Lead Sampling TTLC									
Turn Around Time:			2-days	2-	days		2-days	2-	days
Cost per Test:	40	\$12.00	\$480.00	\$40.00	\$1,600.00	\$105.00	\$4,200.00	\$10.00	\$400.00
Type of Test: Lead Paint Analysis									
Test Method:	_		EPA 6010B	FPA	6010B	FI	PA 6010B	FΡΔ	6010B
Turn Around Time:			2-days		days		2-days		days
Cost per Test:	10	\$30.00	\$300.00	\$50.00	\$500.00	\$35.00	\$350.00	\$20.00	\$200.00
Type of Test: Lead Paint Analysis									
Test Method:			EPA 6010B	EPA	6010B	El	PA 6010B	EPA	6010B
Turn Around Time:			10-days	10	-days		10-days	10-	-days
Cost per Test:	40	\$30.00	\$1,200.00	\$30.00	\$1,200.00	\$25.00	\$1,000.00	\$20.00	\$800.00
Type of Test: Lead Paint Analysis									
Test Method:			BULK	В	ULK		BULK	В	ULK
Turn Around Time:			2-days	2-	days		2-days	2-	days
Cost per Test:	10	\$12.00	\$120.00	\$9.00	\$90.00	\$35.00	\$350.00	\$15.00	\$150.00
7. Test Category: Lead Sampling and Analysis	9889898							110111101111	
Type of Test: Lead Paint Analysis									

DALLAS COUNTY BID TABULATION	111111111111111111111111111111111111111	1	/ENDOR #5	VEN	DOR #6	VE	ENDOR #7	VEN	DOR #8
		ERC Environ	mental and Construction						
BID NO. 2016-002-6539			Services		mental Group, LLC		vironmental, Inc.		sociates, Inc.
		Mr. Ko	mmy M. Azarpour		g W. Farmer		ary Ann Clark		s C. Jensen
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			President		cutive Officer		President		sultant
ASSESSMENT AND CONSULTANT SERVICES	_04.44.6		erly Boulevard, Suite 100	,	Drive, Suite 130		1 Bee Street		Shady Trail
			ston, TX 77043		n, TX 75010		s, TX 75234		TX 75229
OPENING DATE OCTODED ON COAST OF CORDINATE			3-290-9444 (P)		0-8014 (P)		1-6680 x-23(P)		2-7065 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)			3-290-9441 (F)		ax Listed		241-6689 (F)		x Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017	_0.66.66.6	kazarr	our@erc-tx.com	<u>craig.farmer</u>	@farmereg.com	maryann@LC	Aenvironmental.com	louis.jensen@	@sbcglobalnet
THREE ADDITIONAL ONE YEAR PERIODS	_::::::::::::::::::::::::::::::::::::::								
BUYER: LENORA SEVILLIAN	_ 3 3 3								
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT	_0.6666666								
NCTRCA Certified Vendor (M/WBE)			No		ax Listed		Yes		Yes
OTHER MINORITY CERTIFICATION	_ 3 3 3		N/A		N/A		N/A		V/A
EEO1 FORM			Yes		Yes		Yes	,	Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?			No		Yes		Yes	,	Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?		Lead Ger	nerating Subscription	Envirobid	Net Website		Email	E	mail
ADDENDUM RETURNED?			N/A		N/A		N/A		N/A
COOPERATIVE PURCHASING?			Yes		Yes		No	,	Yes
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Test Method:			WIPE	V	VIPE		WIPE	W	/IPE
Turn Around Time:			2-days	2-	days		2-days	2-	days
Cost per Test:	10	\$12.00	\$120.00	\$9.00	\$90.00	\$35.00	\$350.00	\$10.00	\$100.00
			,		,	,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	
Type of Test: Lead in Air Sample Analysis									
Test Method:			AIR		AIR	AIR		,	AIR
Turn Around Time:			2-days	2-	days		2-days	2-	days
Cost per Test:	10	\$12.00	\$120.00	\$9.00	\$90.00	\$35.00	\$350.00	\$10.00	\$100.00
Type of Test: Lead in Soil Sample Analysis									
Test Method:			BULK	В	ULK		BULK	В	ULK
Turn Around Time:			2-days	2-	days		2-days	2-	days
Cost per Test:	10	\$12.00	\$120.00	\$9.00	\$90.00	\$35.00	\$350.00	\$15.00	\$150.00
Type of Test: Lead in Soil Sample Analysis									
Test Method:			WATER	W	ATER	,	WATER	W	ATER
Turn Around Time:			2-days		days		2-days		days
Cost per Test:	10	\$25.00	\$250.00	\$9.00	\$90.00	\$35.00	\$350.00	\$25.00	\$250.00
Type of Test: Lead X-Ray Fluorescence (XRF) Analysis	_		Dlank	_	daya		2 days	2	dovo
Turn Around Time:	40	¢400.00	Blank		days		2-days		days
Cost per Test:	10	\$400.00	\$4,000.00	\$200.00	\$2,000.00	\$380.00	\$3,800.00	\$750.00	\$7,500.00
8. Test Category: Mold/Indoor Air Quality Sampling and Analysis									
Type of Test: Non-Viable Direct Microscope - Bulk									
Turn Around Time:			1-day	1	-day		1-day	1	-day
Cost per Test:	8	\$40.00	\$320.00	\$35.00	\$280.00	\$35.00	\$280.00	\$35.00	\$280.00
Type of Test: Non-Viable Direct Microscope - Swab									
Turn Around Time:			1-day		-day		1-day		day
Cost per Test:	8	\$40.00	\$320.00	\$35.00	\$280.00	\$35.00	\$280.00	\$35.00	\$280.00

DALLAS COUNTY BID TABULATION	13113113	1	/ENDOR #5	VEN	DOR #6	VE	ENDOR #7	VENI	DOR #8
		ERC Environ	mental and Construction						
BID NO. 2016-002-6539			Services	Farmer Environ	mental Group, LLC	LCA Env	vironmental, Inc.	PASS Ass	sociates, Inc.
		Mr. Ko	mmy M. Azarpour		g W. Farmer		ary Ann Clark		s C. Jensen
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD	_13113133		President		cutive Officer		President		sultant
ASSESSMENT AND CONSULTANT SERVICES	_344444		erly Boulevard, Suite 100	,	Drive, Suite 130		1 Bee Street		Shady Trail
	_03 00 03		ston, TX 77043		n, TX 75010		s, TX 75234	,	TX 75229
	_ :::::::::::::::::::::::::::::::::::::		3-290-9444 (P)		0-8014 (P)		1-6680 x-23(P)		2-7065 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)	_ :: :: :: ::		3-290-9441 (F)		ax Listed		241-6689 (F)		x Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017	_099999	kazarr	our@erc-tx.com	<u>craig.farmer</u>	@farmereg.com	maryann@LC	Aenvironmental.com	louis.jensen@	@sbcglobalnet
THREE ADDITIONAL ONE YEAR PERIODS	_::::::::::::::::::::::::::::::::::::::								
BUYER: LENORA SEVILLIAN	_ :: :: :: ::								
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT	_199999								
NCTRCA Certified Vendor (M/WBE)	_030303		No		ax Listed		Yes		Yes
OTHER MINORITY CERTIFICATION	_13.3.3		N/A		N/A		N/A		N/A
EEO1 FORM			Yes		Yes		Yes)	Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?			No		Yes		Yes)	Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?		Lead Ger	nerating Subscription	Envirobid	Net Website		Email	E	mail
ADDENDUM RETURNED?			N/A		N/A		N/A	1	N/A
COOPERATIVE PURCHASING?			Yes		Yes		No	1	Yes
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Type of Test: Non-Viable Direct Microscope - Wipe									
Turn Around Time:			1-day	1	-day		1-day	1-	-day
Cost per Test:	8	\$40.00	\$320.00	\$35.00	\$280.00	\$35.00	\$280.00	\$35.00	\$280.00
Type of Test: Non-Viable Direct Microscope - Tape Lift									
Turn Around Time:			1-day	1	-day		1-day	1-	-day
Cost per Test:	8	\$40.00	\$320.00	\$35.00	\$280.00	\$35.00	\$280.00	\$35.00	\$280.00
Test Category: Mold/Indoor Air Quality Sampling and Analysis									
Type of Test: Air-O-Cell Collection - Microscope									
Turn Around Time:			1-day	1	-day		1-day	1-	-day
Cost per Test:	12	\$40.00	\$480.00	\$30.00	\$360.00	\$55.00	\$660.00	\$55.00	\$660.00
Type of Test: Non-Viable Direct Microscope - Bulk									
Turn Around Time:			2-days	2	-days		2-days	2	days
Cost Per Test:	8	\$35.00	\$280.00	\$25.00	\$200.00	\$22.00	\$176.00	\$25.00	\$200.00
COST PET TEST.	- 0	\$55.00	\$200.00	\$25.00	\$200.00	\$22.00	\$170.00	\$25.00	\$200.00
Type of Test: Non-Viable Direct Microscope - Swab	_								
Turn Around Time:	+		2-days	7.	-days		2-days	2-1	l days
Cost per Test:	8	\$35.00	\$280.00	\$25.00	\$200.00	\$22.00	\$176.00	\$25.00	\$200.00
		\$55.00	Ψ230.00	Ψ20.00	Ψ200.00	Ψ22.00	ψ170.00	Ψ20.00	Ψ200.00
Type of Test: Non-Viable Direct Microscope - Wipe									
Turn Around Time:			2-days	2-	-days		2-days	2-	days
Cost of Test:	8	\$35.00	\$280.00	\$25.00	\$200.00	\$22.00	\$176.00	\$25.00	\$200.00
Type of Test: Non-Viable Direct Microscope - Tape Lift									
Turn Around Time:			2-days	2-	-days		2-days	2-	days
Cost per Test:	8	\$35.00	\$280.00	\$25.00	\$200.00	\$22.00	\$176.00	\$25.00	\$200.00
T. CT. LANGO HOUR IN AN									
Type of Test: Air-O Cell Collection - Microscope			2.1				2.1		
Turn Around Time:	10	405.00	2-days		-days		2-days		days
Cost per Test:	12	\$35.00	\$420.00	\$30.00	\$360.00	\$33.00	\$396.00	\$35.00	\$420.00

FECT FROM CONTROL 100 A009 FECT FROM CONTROL 100 A0004 Fermi Province of Control (Control 100 A0004 Fermi Province of Control (Control 100 A0004 Fermi Province of Control 100	DALLAS COUNTY BID TABULATION	05050505050	1	/ENDOR #5	VEN	IDOR #6	VI	ENDOR #7	VENI	DOR #8
Set 000 A00 A00 A00 A00 A00 A00 A00 A00 A0								-		
ASSESSMENT MAD CONSULT MAT SERVICES Personal Services Perso	BID NO. 2016-002-6539	13.3.3			Farmer Environ	mental Group, LLC	LCA En	vironmental, Inc.	PASS Ass	sociates, Inc.
MONTH MON		4 4 4	Mr. Ko	mmy M. Azarpour	Mr. Crai	g W. Farmer	Ms. N	lary Ann Clark	Mr. Louis	C. Jensen
Control Cont	ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			President	Chief Exe	ecutive Officer	I	President	Con	sultant
Part	ASSESSMENT AND CONSULTANT SERVICES		10801 Hamm	erly Boulevard, Suite 100	4125 Fairway	Drive, Suite 130	1322	21 Bee Street	11133 S	hady Trail
PRIVINCE PREZ 0010 PREZ		4 4 4								
		100000000								
THINEE ADDITIONAL ONE YEAR PERSONS 1	OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)		713	3-290-9441 (F)	No F	ax Listed		. ,	No Fa	x Listed
BUFFEL FLINDIAN SPILLINN CONTROLT MANAGER FLINDIAL MISGRIT No.	INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017		<u>kazarp</u>	our@erc-tx.com	craig.farmer	@farmereg.com	maryann@LC	CAenvironmental.com	<u>louis.jensen@</u>	<u> sbcglobalnet</u>
CONTINENT NAME NAME NAME NAME NAME NAME NAME NAME	THREE ADDITIONAL ONE YEAR PERIODS	3 3 3								
No. No. Center Versite (MANIE)	BUYER: LENORA SEVILLIAN									
STEPH MANORITY CERTIFICATION	CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT									
PERDIT FORM	NCTRCA Certified Vendor (M/WBE)	4 4 4		No	No F	ax Listed		Yes	١	/es
NAME	OTHER MINORITY CERTIFICATION	[69169169]		N/A		N/A		N/A	1	N/A
BINDITICATION HOW WEEK PLOW NOTIFIED? Lead Generaling Subscription Lead Generaling Subscription Lead Generaling Manual Properties	EEO1 FORM			Yes		Yes		Yes)	/es
BINDITICATION HOW WEEK PLOW NOTIFIED? Lead Generaling Subscription Lead Generaling Subscription Lead Generaling Manual Properties	TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?					Yes		Yes	١	⁄es
ADDEPAIDMENT PURCHASING? STRAINED COST EXTENSION UNIT COST CO		13:3:3:3	Lead Ger							
DESCRIPTION										
DESCRIPTION						Yes		No	\	/es
DESCRIPTION		FSTIMATED			1					
Type of Test: Basic Occupant Confort Parameter Indoor Testing (to Include O.2 carbon Monoide, Relative Humidity, and Temperature) Test Method: Turn Around Time: Cost per Test: Turn Around Time: Tur	DESCRIPTION	ANNUAL	UNIT COST	COST EXTENSION	UNIT COST		UNIT COST	COST EXTENSION	UNIT COST	
Carbon Monoxide, Carbon Dioxide, Relative Humidity, and Temperature)		QUANTITI								
Turn Around Time: NA S50,00 \$450,00 \$50,00 \$50,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$300,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00 \$350,00	31									
Second	Test Method:			Air		Air		Air		Air
Cost per Test: Cost per Test: Cost per Test: Cost per Test: Proteionization Detector Cost per Test: Proteionization Detector Cost per Test:	Turn Around Time:			N/A		N/A		N/A	١	V/A
Test Methods	Cost per Test:	6	\$10.00	\$60.00	\$75.00	\$450.00	\$75.00	\$450.00	\$50.00	\$300.00
Test Methods	Type of Test: Photoionization Detector									
Cost per Test: 6 \$75.00 \$450.00 \$75.00 \$450.00 \$200.00 \$1200.00 Type of Test: Microbial Analysis (Total Spores) Image: Cost per Test: Image: Cost per Test:<	**			Air		Air		Air	ı	Air
Type of Test: Microbial Analysis (Total Spores)	Turn Around Time:			N/A		N/A		N/A	1	V/A
Test Method:	Cost per Test:	6	\$75.00	\$450.00	\$75.00	\$450.00	\$75.00	\$450.00	\$200.00	\$1,200.00
Test Method:	Type of Test: Microbial Analysis (Total Spores)									
Turn Around Time: Cost per Test: 6 \$30.00 \$180.00 \$25.00 \$150.00 \$40.00 \$240.00 \$35.00 \$210.00 10. Test Category: Mold/Indoor Air Quality Sampling and Analysis Type of Test: Microbial Analysis (Culturalable) Test Method: Cost per Test: 6 \$75.00 \$450.00 \$450.00 \$240.00 \$35.00 \$210.00 Air 10-days 10	3	-		Air		Air		Air		lAir
Cost per Test: 10. Test Category: Mold/Indoor Air Quality Sampling and Analysis Type of Test: Microbial Analysis (Culturalable) Total Method: Turn Around Time: Cost per Test: Microbial Analysis Micr										
10. Test Category: Mold/Indoor Air Quality Sampling and Analysis 10. Test Category: Microbial Analysis (Culturalable) 10. Test Category: Microbial Analysis (Culturalable) 10. Test Microbial Analysis (Cost per Test: Microbial An		6	\$30.00					,		,
Type of Test: Microbial Analysis (Culturalable)			,	,			,		, , , , , ,	
Test Method: Air <	10. Test Category: Mold/Indoor Air Quality Sampling and Analysis				9199199					
Turn Around Time: 10-days \$10.00 \$240.00 \$39.00 \$234.00 \$35.00 \$210.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00										
Cost per Test: 6 \$75.00 \$450.00 \$40.00 \$240.00 \$39.00 \$234.00 \$35.00 \$210.00 Type of Test: Microbial Analysis Image: Cost per Test: Mi	Test Method:									
Include of the control of t										
Test Method:	Cost per Test:	6	\$75.00	\$450.00	\$40.00	\$240.00	\$39.00	\$234.00	\$35.00	\$210.00
Turn Around Time: 10-days	Type of Test: Microbial Analysis									
Cost per Test: 6 \$75.00 \$450.00 \$50.00 \$300.00 \$49.00 \$294.00 \$45.00 \$270.00 Type of Test: Viable Fungal Genus Indentification/Quantification - Swap/Sponge Culture Image: Control of the						•				•
Type of Test: Viable Fungal Genus Indentification/Quantification - Swap/Sponge Culture								,		
Culture	Cost per Test:	6	\$75.00	\$450.00	\$50.00	\$300.00	\$49.00	\$294.00	\$45.00	\$270.00
	31									
	Test Method: (Insert Test Method)	+		Blank	ΔSTM	D7391-09		Blank	Direc	t Exam

DALLAS COUNTY BID TABULATION	0.0000000000000000000000000000000000000	\	/ENDOR #5	VEN	DOR #6	VI	ENDOR #7	VEN	DOR #8
	1919	ERC Environ	mental and Construction						
BID NO. 2016-002-6539			Services	Farmer Environ	mental Group, LLC	LCA En	vironmental, Inc.	PASS Ass	sociates, Inc.
	4 4 4	Mr. Ko	mmy M. Azarpour	Mr. Crai	g W. Farmer	Ms. N	lary Ann Clark	Mr. Loui:	s C. Jensen
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			President	Chief Exe	cutive Officer	ı	President	Con	sultant
ASSESSMENT AND CONSULTANT SERVICES		10801 Hamme	erly Boulevard, Suite 100	4125 Fairway	Drive, Suite 130	1322	21 Bee Street	11133 9	Shady Trail
		Hous	ston, TX 77043	Carrollto	n, TX 75010	Dalla	rs, TX 75234	Dallas,	TX 75229
		713	3-290-9444 (P)	972-39	0-8014 (P)	972-24	1-6680 x-23(P)	214-76	2-7065 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)		713	3-290-9441 (F)	No F	ax Listed	972-	241-6689 (F)	No Fa	ax Listed
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017		kazarp	oour@erc-tx.com	craig.farmer	@farmereg.com	maryann@LC	Aenvironmental.com	louis.jensen@	@sbcglobalnet
THREE ADDITIONAL ONE YEAR PERIODS	9.9.9	-			_	-			
BUYER: LENORA SEVILLIAN	9 9 9								
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT									
NCTRCA Certified Vendor (M/WBE)			No	No F	ax Listed		Yes	,	Yes
OTHER MINORITY CERTIFICATION	9-9-9		N/A		N/A		N/A		N/A
EEO1 FORM	9 9 9		Yes		Yes		Yes		Yes
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?			No		Yes		Yes		Yes
BID NOTIFICATION-HOW WERE YOU NOTIFIED?		Load Cor	nerating Subscription		Net Website		Email		mail
	191919	Leau Ger	N/A		N/A		N/A		.maii N/A
ADDENDUM RETURNED? COOPERATIVE PURCHASING?	49119119								
COUPERATIVE PURCHASING?	100 100 10		Yes		Yes		No		Yes
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
Turn Around Time:			10-days	10	-days		10-days	10	-days
Cost per Test:	6	\$95.00	\$570.00	\$50.00	\$300.00	\$49.00	\$294.00	\$45.00	\$270.00
		-							*
Type of Test: Viable Fungal Genus Indentification/Quantification - Anderson Plate Culture									
Test Method: (Insert Test Method)			Blank	ASTM	D739-09		Blank	Direc	ct Exam
Turn Around Time:			10-days	10	-days		10-days	10	-days
Cost per Test:	6	\$95.00	\$570.00	\$40.00	\$240.00	\$39.00	\$234.00	\$25.00	\$150.00
Type of Test: Viable Fungal Genus Indentification/Qualification - Anderson Plate Bacterial									
Test Method: (Insert Test Method)			Blank	ASTM	D739-09		Blank	Direc	ct Exam
Turn Around Time:			10-days	10	-days		10-days	10	-days
Cost per Test:	6	\$95.00	\$570.00	\$35.00	\$210.00	\$39.00	\$234.00	\$25.00	\$150.00
Type of Test: Colorimetric chemical detector tubes including pump									
Test Method:			Air		Air		Air		Air
Turn Around Time:			N/A		N/A		N/A	I	N/A
Cost per Test:	10	\$50.00	\$500.00	\$95.00	\$950.00	\$95.00	\$950.00	\$100.00	\$1,000.00
11. Test Category: Soil/Water/Air/Other - Characterization									
Type of Test: Toxicity Characteristic Leaching Procedure for Lead Only (TCLP Lead)									
Test Method:		EPA 131	1, 7000, Series/6020	EPA 1311, 70	000, Series/6020	EPA 1311,	7000, Series/6020	EPA 1311, 70	000, Series/6020
Turn Around Time:			5-days	5.	days		5-days	5 -	days
Cost per Test:	6	\$70.00	\$420.00	\$70.00	\$420.00	\$75.00	\$450.00	\$150.00	\$900.00
ouse par rest.	0	Ψ10.00	ψτζΟ.ΟΟ	Ψ7·0.00	Ψ720.00	Ψ10.00	ψτ.υυ.υυ	ψ130.00	¥700.00
Type of Test: RCRA Characteristics (Includes: Reactivity, Ignitability, Corrosively, and Paint Filter Test)									

	V	ENDOR #5	VEN	IDOR #6	V	/ENDOR #7	VEN	DOR #8
	ERC Environr							
			Farmer Environmental Group, LLC		LCA Environmental, Inc.		PASS Associates, Inc.	
			,	Mr. Craig W. Farmer			Mr. Louis C. Jensen	
	+						Consultant	
		,	,				11133 Shady Trail Dallas, TX 75229	
							214-762-7065 (P)	
lesies se				. ,			No Fax Listed	
	'							@sbcglobalnet
		No	No Fax Listed		Yes		Yes	
		N/A	N/A		N/A		N/A	
		Yes	Yes			Yes	Yes	
		No		Yes		Yes	Yes	
	Lead Gen					Email	Email	
		N/A		N/A		N/A	N/A	
		Yes		Yes	No		Yes	
ESTIMATED ANNUAL QUANTITY	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
	EPA 7.3.4.2/ 7.3.3.2 1030/1010 9040B/ 150.1		EPA 7.3.4.2/ 7.3.3.2 1030/1010 9040B/ 150.1		EPA 7.3.4.2/ 7.3.3.2 1030/1010 9040B/ 150.1		EPA 7.3.4.2/ 7.3.3.2 1030/1010 9040B/ 150.1	
		5-days						days
6	\$120.00	\$720.00	\$150.00	\$900.00	\$100.00	\$600.00	\$150.00	\$900.00
	\$45.00	\$45.00	\$50.00	\$50.00	\$105.00	\$105.00	N/A	N/A
	\$45.00	\$45.00	\$500.00	\$500.00	\$1,050.00	\$1,050.00	\$650.00	\$650.00
	30		25		10		20	
	2-3		2		2		2	
	ANNUAL	ERC Environr Mr. Kor 10801 Hamme Hous 713 713 Kazarp Lead Gen ESTIMATED ANNUAL QUANTITY EPA 7.3.4.2/ 7.3.3 6 \$120.00	Mr. Kommy M. Azarpour President 10801 Hammerly Boulevard, Suite 100 Houston, TX 77043 713-290-9444 (P) 713-290-9441 (F) kazarpour@erc-tx.com No N/A Yes No Lead Generating Subscription N/A Yes ESTIMATED ANNUAL QUANTITY EPA 7.3.4.2/ 7.3.3.2 1030/1010 9040B/ 150.1 5-days 6 \$120.00 \$720.00 \$45.00 \$45.00 \$45.00	ERC Environmental and Construction Services Mr. Kommy M. Azarpour President 10801 Hammerly Boulevard, Suite 100 Houston, TX 77043 713-290-9444 (P) 972-39 713-290-9441 (F) No F kazarpour erc-tx.com No No No F NVA Yes No Lead Generating Subscription Envirobic NVA Yes ESTIMATED ANNUAL QUANTITY EPA 7.3.4.2/ 7.3.3.2 1030/1010 9040B/150.1 EPA 7.3.4.2/ 7.9040 \$45.00 \$45.00 \$\$45.00 \$\$500.00 \$\$500.00 \$\$500.00	ERC Environmental and Construction Services Farmer Environmental Group, LLC	ERC Environmental and Construction Services Farmer Environmental Group, LLC Mr. Kommy M. Azarpour Mr. Craig W. Farmer Ms. I	Farmer Environmental Group, LLC LCA Environmental, Inc.	ERC Environmental and Construction Services Farmer Environmental Group, LLC LCA Environmental, Inc. PASS AS

DALLAS COUNTY BID TABULATION	100 100 10	VENDOR #5		VENDOR #6		VENDOR #7		VENDOR #8	
		ERC Environmental and Construction				12.13 01(1)		TEMPON NO	
BID NO. 2016-002-6539		*S1		Farmer Environmental Group, LLC		LCA Environmental, Inc.		PASS Associates, Inc.	
	191919	Mr. Kor	mmy M. Azarpour	Mr. Craig W. Farmer		Ms. Ma	ary Ann Clark	Mr. Louis C. Jensen	
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			President	Chief Exe	ecutive Officer	P	resident	Consultant	
ASSESSMENT AND CONSULTANT SERVICES	na na na		erly Boulevard, Suite 100		y Drive, Suite 130		1 Bee Street	11133 Shady Trail	
	REFERE		ston, TX 77043		n, TX 75010		s, TX 75234	Dallas, TX 75229	
			-290-9444 (P)		0-8014 (P)		-6680 x-23(P)	214-762-7065 (P)	
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)		713	-290-9441 (F)		ax Listed	972-241-6689 (F)		No Fax Listed	
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017	Renene	<u>kazarp</u>	our@erc-tx.com	<u>craig.farmer@farmereg.com</u>		maryann@LCAenvironmental.com		louis.jensen@sbcglobalnet	
THREE ADDITIONAL ONE YEAR PERIODS	19 9 9								
BUYER: LENORA SEVILLIAN									
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT									
NCTRCA Certified Vendor (M/WBE)	699999		No	No Fax Listed		Yes		Yes	
OTHER MINORITY CERTIFICATION			N/A	N/A		N/A		N/A	
EEO1 FORM			Yes		Yes		Yes	Yes	
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?			No		Yes		Yes	Yes	
BID NOTIFICATION-HOW WERE YOU NOTIFIED?	691919	Lead Gen	erating Subscription	Envirobio	Net Website	Email		Email	
ADDENDUM RETURNED?			N/A		N/A	N/A		N/A	
COOPERATIVE PURCHASING?	na la la la		Yes	Yes		No		Yes	
	ESTIMATED			ì					
DESCRIPTION	ANNUAL	UNIT COST	COST EXTENSION	UNIT COST	COST	UNIT COST	COST EXTENSION	UNIT COST	COST
	QUANTITY				EXTENSION				EXTENSION
Specify Cost per Student at Vendor Training Facility located in Dallas County.		\$45.00	\$45.00	\$50.00	\$50.00	\$130.00	\$130.00	N/A	N/A
Specify Cost per Class On-Site Training at Dallas County Facility:		\$45.00	\$45.00	\$500.00	\$500.00	\$1,300.00	\$1,300.00	\$850.00	\$850.00
Specifiy the Maximum Number of Students per Class for On-Site Training at		,	30	,	25	, , , , , , , , ,			20
Dallas County Facility:						10			20
Class duration (number of instructional hours per day):			2-3		2		2		3
14. Please list any other environmental training offered by your firm and associated cost:		Safety Training \$75.00		N/A		7 Optional Training Classes \$20,280.00		N/A	
		OSHA 10	\$95.00						
		OSHA 30	\$300.00						
							II.		
		Min. of 10				1	Min. 10		
Grand Total:			\$434,847.80		\$496,428.00		\$605,081.00		\$302,930.00
Should your firm be awarded this contract, describe what (if any) portion of this bid requirements will be subcontracted out (specify the name of the subcontractor(s) and trade or portion of the work contractor, if available):		PLM Analysis, TEM Analysis, Lead/Air/Soil/Wipe Samples		10%		Training - ES Squared, LLC - MBE Firm, Laboratory - Steve Moody Micro Services - WBE Firm, Laboratory - Armstrong Forensic Laboratory, Inc WBE Firm		All the awareness Training and most of the analytical analysis work will be subconracted.	
*Leaving this area blank will mean the vendor will perform ALL portions of the contract with their own in-house staff.									
Specify Prompt/Early Payment Discount Terms (if any):		5% 10 days		2% 30 days		0.0 / 30 days		N/A	
Please answer the questions below:					-				
Is the required reference information included with your proposal?			Yes		Yes	Yes)	Yes
						L			

DALLAS COUNTY BID TABULATION		VENDOR #5		VENDOR #6		VENDOR #7		VENDOR #8	
		ERC Environmental and Construction							
BID NO. 2016-002-6539		Services		Farmer Environmental Group, LLC		LCA Environmental, Inc.		PASS Associates, Inc.	
	13 3 3	Mr. Kor	nmy M. Azarpour	Mr. Craiç	g W. Farmer	Ms. Ma	ary Ann Clark	Mr. Louis C. Jensen	
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			President	Chief Executive Officer		President		Consultant	
ASSESSMENT AND CONSULTANT SERVICES			erly Boulevard, Suite 100	4125 Fairway Drive, Suite 130			1 Bee Street	11133 Shady Trail	
	46.46.46		ton, TX 77043	Carrollton, TX 75010		Dallas, TX 75234		Dallas, TX 75229	
		713-290-9444 (P)		972-39	0-8014 (P)		-6680 x-23(P)		2-7065 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)		713	-290-9441 (F)	No Fa	ax Listed	972-2	241-6689 (F)	No Fax Listed	
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017		<u>kazarp</u>	our@erc-tx.com	craig.farmer	@farmereg.com	maryann@LC	Aenvironmental.com	louis.jensen@	<u> Psbcglobalnet</u>
THREE ADDITIONAL ONE YEAR PERIODS	144 44 44								
BUYER: LENORA SEVILLIAN									
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT									
NCTRCA Certified Vendor (M/WBE)	14 4 4		No	No Fax Listed		Yes		Yes	
OTHER MINORITY CERTIFICATION	19 19 19		N/A	N/A		N/A		N/A	
EEO1 FORM			Yes	Yes			Yes	Yes	
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?			No	Yes			Yes		'es
BID NOTIFICATION-HOW WERE YOU NOTIFIED?		Lead Gen	erating Subscription	Envirobid Net Website			Email		mail
ADDENDUM RETURNED?			N/A	N/A		N/A		N/A	
COOPERATIVE PURCHASING?			Yes	Yes		No No		Yes	
	ESTIMATED			163		140			
DESCRIPTION	ANNUAL	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
	QUANTITY								271.2110.011
		Kevin Prezvanipour			gs (Accounting	Edward B. Barganier		Louis C. Jensen	
Specify the name, telephone number and email address of the account			72-243-2177		ector	972-241-6680 x-25		214-762-7065	
representative who will be handling and managing this account.		krezvanipour@erc-tx.com		972-390-8014		barganier@LCAenvironmental.com		louis.jensen@sbcglobal.net	
Note: It is the responsibility of the awarded bidder to notify Dallas County		2828 Forest Lane, Suite 1147		kelle.rawlings@farmereg.com 4125 Fairway Drive, Suite 130		13221 Bee Street		11133 Shady Trail	
of any account representative and/or contact person changes.		Dallas, TX 75234		,	n, TX 75010	Farmers B	ranch, TX 75234	Dallas, TX 75229	
		Carrollon							
Does your firm/company have the required insurance coverage stated under									
Section 3 - INSURANCE REQUIREMENTS and agree to comply with these		Yes		,	Yes		Yes	Y	'es
requirements during the duration of this contract?									
If no, will your firm be able to acquire the required coverage within ten (10) days		N/A		N/A		N/A		N/A	
upon notification of contract award?		IV/A		19/7			IVA	1471	
								 	
Cooperative Purchasing: Should other Government Entities decide to participate									
in this contract, would you , the awarded Contractor agree that all terms,			Yes	Yes		No		Yes	
conditions, specifications, and pricing would apply to that entity?									
Note All supplies to Commence of Fullifier of the All supplies Commence of States									
Note: All purchases by Government Entities other than Dallas County will be billed directly to that Government Entity and paid by that Government									
Entity. Dallas County will not be responsible for other Government Entity's									
debt.									
uobi.									
Information on Provision of Health Insurance Coverage for Employees				1					
mismation of From From From the Coverage for Employees									
Dallas County may consider the provision of health insurance coverage for									
employees in the bid evaluation process (see Page 4, paragraph 5). Please									
complete the information below to assist in this evaluation.									
a) Does your company provide health insurance coverage to its employees?			V	,		V			M-
b) IF your company does provide health insurance coverage to its employees,			Yes	,	Yes	Yes		ľ	Vo
does the company share in the cost a minimum of:									
95% for employee only coverage?			Yes	No		Yes		Blank	

DALLAS COUNTY BID TABULATION	0:0:0:0:0:0:0:0	VENDOR #5		VENDOR #6		VENDOR #7		VENDOR #8	
		ERC Environ	mental and Construction						
BID NO. 2016-002-6539			Services Farmer Environmental Group, LLC LCA Environmental, Inc.		PASS Associates, Inc.				
		Mr. Ko	mmy M. Azarpour	Mr. Craig W. Farmer		Ms. Mary Ann Clark		Mr. Louis C. Jensen	
ANNUAL CONTRACT FOR ASBESTOS-MOLD-LEAD			President	Chief Executive Officer		President		Consultant	
ASSESSMENT AND CONSULTANT SERVICES		10801 Hammerly Boulevard, Suite 100		4125 Fairway Drive, Suite 130		13221 Bee Street		11133 Shady Trail	
		Houston, TX 77043 Carrollton, TX 7501		n, TX 75010	Dallas, TX 75234		Dallas, TX 75229		
	49 49 49	713	3-290-9444 (P)	972-39	0-8014 (P)	972-241	1-6680 x-23(P)	214-762	2-7065 (P)
OPENING DATE: OCTOBER 29, 2015 @ 2:00PM (CT)		713	3-290-9441 (F)	No Fax Listed		972-241-6689 (F)		No Fax Listed	
INITIAL CONTRACT PERIOD: JANUARY 1, 2016 THRU DECEMBER 31, 2017	10110110	kazarp	our@erc-tx.com	craig.farmer@farmereg.com		maryann@LCAenvironmental.com		louis.jensen@sbcqlobalnet	
THREE ADDITIONAL ONE YEAR PERIODS				_	_				
BUYER: LENORA SEVILLIAN									
CONTRACT MANAGER: JOHN CLARK / PAUL WRIGHT									
NCTRCA Certified Vendor (M/WBE)		No		No Fax Listed		Yes		Yes	
OTHER MINORITY CERTIFICATION		N/A		N/A		N/A		N/A	
EEO1 FORM		Yes		Yes		Yes		Yes	
TAXPAYER STATUS-DALLAS COUNTY TAXPAYER?		No		Yes		Yes		Yes	
BID NOTIFICATION-HOW WERE YOU NOTIFIED?		Lead Generating Subscription		Envirobid Net Website		Email		Eı	mail
ADDENDUM RETURNED?		N/A		ı	N/A		N/A	N	I/A
COOPERATIVE PURCHASING?		Yes		,	Yes	No		Yes	
DESCRIPTION	ESTIMATED ANNUAL QUANTITY	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION	UNIT COST	COST EXTENSION
85% for employee + children coverage?			Blank	No		No		Blank	
73% for employee + spouse?		Blank		No		No		Blank	
71% for employee + family coverage?		Blank		No		No		Blank	
c) If your company provides health insurance coverage to its employees, is the coverage to its employees, is the coverage comparable to the services provided by Dallas Count as described in the attached summary plan description? (See Attachment A)		Yes		No		Yes		Blank	
d) If you company plans to utilize subcontractors in the fulfillment of this bid, does each of the subcontractors provide health insurance coverage to their employees								No	